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D ±ÜÅÍæ°±ÜâÔ¤Pæ¿á®Üá° ñæÃæ¿ááÊÜíñæ ¯ÊÜáWæ £ÚÓÜáÊÜÊÜÃæWÜã C¨Ü®Üá° ñæÃæ¿áPÜãvÜ̈ Üá 

 ±ÜÅÍæ° ±ÜâÔ¤Pæ              ±ÜÅÍæ° ±Ü£ÅPæ ÍæÅà~ 

¯©ìÐÜr   ±Ü£ÅPæ  

±Ü£ÅPæ II 

(269)   
ÓÜÊÜá¿á  :  2 WÜípæWÜÙÜá  WÜÄÐÜu AíPÜWÜÙÜá  : 200  

ÓÜãaÜ®æWÜÙÜá 
1. ±ÜÄàûæ ±ÝÅÃÜí»ÜÊÝ¨Ü PÜãvÜÇæà ¯ÊÜá¾ ±ÜÅÍæ°±Ü£ÅPæ¿áÈÉ AÊÜáá©ÅñÜ A¥ÜÊÝ ÖÜÄ©ÃÜáÊÜ A¥ÜÊÝ ¹oár ÖæãàXÃÜáÊÜ ±ÜâoWÜÙÜá A¥ÜÊÝ ±ÜÅÍæ°WÜÙÜá CñÝÂ©WÜÙÜá 

PÜívÜáŸí¨ÜÈÉ ¯ÊÜá¾ J.Gí.BÃ…. EñÜ¤ÃÜ ÖÝÙæ¿áÈÉ ÊÜáá©ÅñÜÊÝXÃÜáÊÜ A¨æà ÍæÅà~¿á ±Üä|ì ±ÜÅÍæ° ±Ü£ÅPæ Áãí©Wæ Ÿ¨ÜÇÝÀáÔ PæãÙÜÛñÜPÜR̈ Üá ª. 
2. A»ÜÂ¦ì¿áá ±ÜÅÍæ° ±Ü£ÅPæ¿á ÍæÅà~¿áá, ñÜÊÜá¾ J.Gí.BÃ…. EñÜ¤ÃÜ ÖÝÙæ¿áÈÉ ÊÜáá©ÅñÜÊÝXÃÜáÊÜ A æ̈à ±ÜÅÍæ°±Ü£ÅPæ¿á ÍæÅà~¿ÞXÃÜáÊÜâ æ̈à GíŸá Ü̈®Üá° 

SbñÜ±ÜwÔPæãÙÜÛ̧ æàPÜá. ÊÜÂñÝÂÓÜWÜÙÜá PÜívÜáŸí Ü̈ÈÉ, ÓÜíËàûÜPÜÃÜ WÜÊÜá®ÜPæR ñÜÃÜáÊÜâ¨Üá ÊÜáñÜá¤ ±ÜÅÍæ°±Ü£ÅPæ¿á ÍæÅà~¿áá ñÜÊÜáWæ Öæãí¨ÜáÊÜ (A æ̈à) ±ÜÅÍæ° 
±Ü£ÅPæ¿Þ Ü̈ ÊÜáñÜá¤ J.Gí.BÃ….EñÜ¤ÃÜ ÖÝÙæ¿áÈÉ ÊÜáá©ÅñÜÊÝXÃÜáÊÜ ÍæÅà~¿á ±ÜÅÍæ° ±Ü£ÅPæ¿á®æ°à ±Üvæ¿áñÜPÜR Ü̈áª.   

3. ±ÜPÜR̈ ÜÈÉ J¨ÜXÔÃÜáÊÜ ±ÜÅÍæ°±Ü£ÅPæ¿á aèPÜ̈ ÜÇæÉà ¯ÊÜá¾ ®æãàí¨Ü~ ÓÜíTæÂ¿á®Üá°   

 ®ÜÊÜáã©ÓÜ̧ æàPÜá. ±ÜÅÍæ° ±ÜâÔ¤Pæ¿áÈÉ ¸æàÃæ H®Ü®Üã° ŸÃæ¿á¸ÝÃÜ̈ Üá. 

4. D ±ÜÅÍæ° ±ÜâÔ¤Pæ 100 ±ÜÅÍæ°WÜÙÜ®Üá° JÙÜWæãíwÃÜáñÜ¤̈ æ. ±ÜÅ£Áãí¨Üá ±ÜÅÍæ°¿áá 4 ±ÜÅ£QÅÁáWÜÙÜ®Üá° (EñÜ¤ÃÜWÜÙÜ®Üá°) JÙÜWæãíwÃÜáñÜ¤̈ æ. ¯àÊÜâ EñÜ¤ÃÜ ÖÝÙæ¿áÈÉ 

WÜáÃÜáñÜá ÊÜÞvÜ̧ æàPǣ ÓÜáÊÜ EñÜ¤ÃÜÊÜ®Üá° BÁáR ÊÜÞwPæãÚÛ. Jí¨Üá ÊæàÙæ AÈÉ Jí¨ÜQRíñÜ ÖæaÜác ÓÜÄ¿Þ¨Ü EñÜ¤ÃÜWÜÚÊæÁáí¨Üá ¯àÊÜâ »ÝËÔ¨ÜÃæ ¯ÊÜáWæ 

AñÜáÂñÜ¤ÊÜáÊǣ ÓÜáÊÜ EñÜ¤ÃÜPæR WÜáÃÜáñÜá ÊÜÞw. H®æà A¨ÜÃÜã ±ÜÅ£ ±ÜÅÍæ°Wæ ¯àÊÜâ PæàÊÜÆ Jí¨Üá EñÜ¤ÃÜÊÜ®Üá° ÊÜÞñÜÅ BÁáR ÊÜÞvÜ̧ æàPÜá. 

5. GÇÝÉ EñÜ¤ÃÜWÜÙÜ®Üá° ¯ÊÜáWæ J¨ÜXÓÜÇÝXÃÜáÊÜ ±ÜÅñæÂàPÜ J.Gí.BÃ…. EñÜ¤ÃÜ ÖÝÙæ¿á ÊæáàÇæ PæàÊÜÆ PÜ±Üâ³ A¥ÜÊÝ ¯àÈ ÍÝÀá¿á ¸ÝÇ…±ÝÀáíp… ±ǣ °®ÜÈÉ 

ÊÜÞñÜÅ WÜáÃÜáñÜá ÊÜÞvÜ̧ æàPÜá. J.Gí.BÃ…. EñÜ¤ÃÜ ±Ü£ÅPæ ÖÝÙæ¿áÈÉ®Ü ËÊÜÃÜÊÝ¨Ü ÓÜãaÜ®æWÜÙÜ®Üá° WÜÊÜá¯ÓÜáÊÜâ¨Üá. 
6. GÇÝÉ ±ÜÅÍæ°WÜÚWæ ÓÜÊÜÞ®Ü AíPÜWÜÙÜá. GÇÝÉ ±ÜÅÍæ°WÜÚWæ EñÜ¤ÄÔÄ.  
7. bñÜá¤ PæÆÓÜPÝRX ÖÝÙæWÜÙÜ®Üá° ±ÜÅÍæ° ±ÜâÔ¤Pæ¿á Pæã®æ¿áÈÉ ÓæàÄÓÜÇÝX¨æ. ±ÜÅÍæ° ±ÜâÔ¤Pæ¿á C®Üá°Ú¨Ü ¿ÞÊÜ »ÝWÜ̈ ÜÈÉ¿áã ¯àÊÜâ ¿ÞÊÜ Äà£¿á WÜáÃÜáñÜ® Üá° 

ÊÜÞvÜñÜPÜR̈ ÜªÆÉ. 
8. ±ÜÄàûæ¿á ÊÜááPÝ¤¿áÊÜ®Üá° ÓÜãbÓÜáÊÜ Aí£ÊÜá WÜípæ ¸ÝÄÔ¨Ü ñÜûÜ|Êæà J.Gí.BÃ…. EñÜ¤ÃÜ ±Ü£ÅPæ ÖÝÙæ¿áÈÉ C®Ý°ÊÜâ¨æà WÜáÃÜáñÜá ÊÜÞvÜáÊÜâ¨Ü®Üá° 

¯ÈÉÓÜ̧ æàPÜá. ÓÜíËàûÜPÜÃÜá Ÿí¨Üá ¯ÊÜá¾ÈÉÃÜáÊÜ J.Gí.BÃ…. EñÜ¤ÃÜ ÖÝÙæ¿á®Üá° ñÜÊÜá¾ ÊÜÍÜPæR ±Üvæ̈ ÜáPæãívÜá ÇæPÜRPæR ñæWæ̈ ÜáPæãÙÜá ÛÊÜÊÜÃæWÜã ¯ÊÜá¾ ¯ÊÜá¾ 
BÓÜ®Ü̈ ÜÈÉÁáà PÜáÚ£ÃÜñÜPÜR̈ Üáª.  

9. ±ÜÅÍæ°WÜÙÜá PÜ®Ü°vÜ ÊÜáñÜá¤ BíWÜÉ »ÝÐæ¿áÈÉÃÜáñÜ¤Êæ. PÜ®Ü°vÜ ±ÜÅÍæ°WÜÙÜÈÉ ÓÜí¨æàÖÜ EípÝ Ü̈Ãæ, Ü̈¿áËoár BíWÜÉ »ÝÐæ¿á ±ÜÅÍæ°WÜÙÜ®Üá° WÜÊÜá¯ÓÜáÊÜâ Ü̈á. ±ÜÅÍæ° ±Ü£ÅPæ¿á 
±ÜÅÍæ°WÜÙÜÈÉ ¿ÞÊÜâ¨æà Wæãí¨ÜÆWÜÚ Ü̈ªÃÜã BíWÜÉ»ÝÐæ¿á ±ÜÅÍæ°WÜÙæà Aí£ÊÜáÊÝXÃÜáñÜ¤̈ æ. 

10. ñÜ±Üâ³ EñÜ¤ÃÜWÜÚWæ Ë˜ÓÜÇÝWÜáÊÜ ¨ÜívÜ : 

 ÊÜÓÜá¤̄ ÐÜu ŸÖÜá BÁáR ±ÜÅÍæ° ±Ü£ÅPæWÜÙÜÈÉ A»ÜÂ¦ìWÜÙÜá WÜáÃÜáñÜá ÊÜÞw Ü̈ ñÜ±Üâ³ EñÜ¤ÃÜPæR ¨ÜívÜ Ë˜®ÜÇÝWÜáñÜ¤̈ æ. 
 (i) ±ÜÅ£Áãí¨Üá ±ÜÅÍæ°¿á EñÜ¤ÃÜPæR ®ÝÆáR ±Ü¿Þì¿áWÜÚÊæ. A»ÜÂ¦ì¿áá ñÜ±Üâ³ EñÜ¤ÃÜ ¯àw¨Ü ±ÜÅ£Áãí¨Üá ±ÜÅÍæ°Wæ B ±ÜÅÍæ°Wæ ¯WÜ©±ÜwÓÜÇÝ Ü̈ 

AíPÜWÜÙÜÈÉ ¼ ÃÜÐÜár AíPÜWÜÙÜ®Üá° ¨ÜívÜ ÃÜã±Ü̈ ÜÈÉ PÜÙæ¿áÇÝWÜáÊÜâ¨Üá. 

 (ii) A»ÜÂ¦ì¿áá Jí¨Üá ±ÜÅÍæ°Wæ Jí¨ÜQRíñÜ ÖæaÜác EñÜ¤ÃÜÊÜ®Üá° ¯àw¨ÜÃæ, AÈÉÃÜáÊÜ Jí¨Üá EñÜ¤ÃÜÊÜâ ÓÜÄÀá¨ÜªÃÜã ÓÜÖÜ A¨Ü®Üá° ñÜ±Üâ³ EñÜ¤ÃÜ Gí¨Üá 
±ÜÄWÜ~ÓÜÇÝWÜáÊÜâ¨Üá ÊÜáñÜá¤ ÊæáàÇæ £ÚÔ¨ÜíñæÁáà B ±ÜÅÍæ°Wæ ¨ÜívÜ Ë˜ÓÜÇÝWÜáÊÜâ¨Üá. 

 (iii) A»ÜÂ¦ì¿áá ±ÜÅÍæ°¿á®Üá° TÝÈ ¹qr̈ ÝªWÜ Aí¨ÜÃæ EñÜ¤ÃÜÊÜ®Üá° ¯àvÜ©¨ÝªWÜ B ±ÜÅÍæ°Wæ ¿ÞÊÜâ¨æà Ü̈ívÜ Ë˜ÓÜÇÝWÜáÊÜâ©ÆÉ. 

 

 

Note : English version of the instructions is printed on the back cover of this booklet. 

A *269/A* 
 

¿ÞÊÜâ æ̈à Äà£¿á Êæã æ̧çÇ… ¶æäà®…ÊÜáñÜá¤ CñÜÃæ Äà£¿á GÇæPÝó¯P…/PÜÊÜáãÂ¯PæàÐÜ®… ÓÝ«Ü®ÜWÜÙÜá CñÝÂ©WÜÙÜ®Üá° ±ÜÄàûÝ Pæàí Ü̈Å¨Ü  
BÊÜÃÜ| æ̈ãÙÜWæ ñÜÃÜáÊÜâ Ü̈®Üá° ¯Ðæà˜Ô¨æ. 
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1. PÝíQÅàp… PÝ¿áì¨Ü ÊÜÞ±Ü®ÜÊÜ®Üá° Z®ÜZoPÜ 

±ÜÄÊÜÞ|¨ÜÈÉ ÓÜãbÓÜáÊÜâ¨Üá D ¸æÇæWæ 

ÓÜËáà±ÜÊÝX  

(1) 0·1 m3 

(2) 0·01 m3 

(3) 0·001 m3 

(4) 1·0 m3 

2. Áãàg®æ¿á ÊæáàÃæWæ 1·5 m AWÜÌÆ®Üá° ËáàÄ Ü̈ 

ÖÝWæÁáà 10 m2 ñæãàvÜáËPæ¿á®Üá° B Ü̈Ãæ  

30 cm BÙÜÊÜ®Üá° ËáàÃÜ©¨ÜªÃæ C¨Ü®Üá° 

×àWæ®Ü°ÇÝWÜáÊÜâ¨Üá 

(1) ÊæáàÇæ¾„ ñæãàvÜáËPæ 

(2) ÊæáàÇæ¾„ ÓÜ±ÝpÝXÔPæ 

(3) WÜáíwñæãàvÜáËPæ 

(4) PÜñÜ¤ÄÓÜáËPæ 

3. ÊÜÞÓ…&ÖÝÇ… ®ÜPÝÍæ¿áÈÉ (ÊÜÞÓÜ ®ÜPÝÍæ) 

‘ÖÝÇ…’  ±Ü Ü̈ÊÜâ ±ÜÅ£¯˜ÓÜáÊÜâ¨Üá 

(1) ±ÜÅ£Áãí¨Üá ÖæãÃæ ÊÜáñÜá¤ ¨ÜãÃÜWÜÙÜ 

WÜá|ÆŸªWÜÙÜ ÊæãñÜ¤  

(2) ñæãàvÜáËPæ¿á PÝ¿áì ÊÜááS©í Ü̈ 

Ÿ¨ÜáË®Ü ñÜá©¿áÊÜÃæX®Ü ¿ÞÊÜâ æ̈à 

PÝÆ¨Ü ¨ÜãÃÜ 

(3) PÜqíW…®Ü WÜáÃÜáñÜÌ Pæàí¨ÜÅ Ü̈ ¨ÜãÃÜ, q±…x 

ÊæáqàÄ¿áÇ… ÊÜÃæWæ CÃÜáÊÜ AíñÜÃÜ 

(4) ÇæãàvÜá ±ÜÆÉo©í¨ÝWÜáÊÜ ÖÝÄg ¨ÜãÃÜ 

4. »ÜãËáPÝ¿áìÊÜÞ±Ü®Ü Ë«Ý®Ü¨ÜÈÉ ñÜÙÜÖÜ© 

ÖÜÙÜÛñÜáíŸáÊÝWÜ, ñÜáíŸáËPæ¿á®Üá° ________ % 

PÜwñÜÊÝX ÊÜÞ±Ü®Ü ÊÜÞw, ¯ÊÜÌÙÜ ±ÜÄÊÜÞ| Ü̈ 

¯«ÝìÃÜPæR ŸÃÜÇÝWÜáÊÜâ¨Üá (±ÜÄÊÜÞ|ÊÜ®Üá° ÓÜwÆ 

ÃÝÎ¿áÈÉ WÝw A¥ÜÊÝ ÇÝÄ¿áÈÉ Aí¨Ýgá 

ÊÜÞvÜáÊÝWÜ) 

(1) 10% 

(2) 5% 

(3) 25% 

(4) 45% 

5. PÝÃÜáWæàpæv… (EŸáº ñÜXY®Ü) WÝÂÆÌ®æçÓ…x PÜ¹º| Ü̈ 

ÓÜãÄ®ÜÈÉ, CÙÜPÜÆá ÓÜãÃÜá ________ XíñÜ, 

aÜ±Ü³q¿ÞXÃÜ¸ÝÃÜ¨Üá ËÍæàÐÜ ÓÜí Ü̈»ÜìÊÜ®Üá° 

ÖæãÃÜñÜá±ÜwÔ, 

(1) 1 ÃÜÈÉ 1 

(2) 2 ÃÜÈÉ 1 

(3) 3 ÃÜÈÉ 1 

(4) 4 ÃÜÈÉ 1  

6. PÜáÔ¿áŸÆÉ ¸ÝXÈ®Ü ±æàÀáíqíW… ÊÜÞ±Ü®ÜPæR 

WÜá|ÆŸœPÝÃÜPÜ AíÍÜÊÜâ 

(1) 1.2 (±ÜÅ£±ÜPÜR¨Ü) 

(2) 0.8 (GÇæÉvæ) 

(3) 1.5 (GÇæÉvæ) 

(4) 1 (±ÜÅ£±ÜPÜR¨Ü) 
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1. The method of measurement of concrete 

work specifies cubic content shall be 

worked out to the nearest 

(1) 0·1 m3 

(2) 0·01 m3 

(3) 0·001 m3 

(4) 1·0 m3 

 

2. Excavation exceeding 1·5 m in width as 

well as 10 m2 on plan but not exceeding 

30 cm in depth shall be described as 

(1) Surface excavation  

(2) Surface dressing 

(3) Excavation in trenches 

(4) Cutting 

 

3. In Mass Haul diagram (Mass diagram), 

the term haul represents the 

(1) Sum of the product of each load by 

its distance 

(2) Distance at any time from the 

working face of an excavation to the 

tip end of the embankment 

(3) Distance from the centre of gravity 

of a cutting to that of tipped 

material 

(4) Horizontal distance through which 

the load is shifted 

4. In the method of measurement of 

earthwork in filling in foundation trench, 

the filling shall be measured and ______ 

of deduction will be made for settlement 

to arrive at the net quantities, in the case 

where quantity is measured in loose 

stacks or in carts or lorries. 

Fill in the blank choosing the correct 

answer from the options given below : 

(1) 10% 

(2) 5% 

(3) 25% 

(4) 45% 

 

5. Specification for corrugated galvanized 

iron roofing specifies that the roof slope 

shall not be laid flatter than _______ if 

not otherwise specially mentioned. 

(1) 1 in 1 

(2) 1 in 2 

(3) 1 in 3 

(4) 1 in 4 

 

6. The multiplying factor for measurement 

of painting on collapsible door is 

(1) 1·2 (Each side) 

(2) 0·8 (All over) 

(3) 1·5 (All over) 

(4) 1 (Each side) 
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7. IS 1200, ÃÜ ±ÜÅPÝÃÜ CqrWæ hæãàvÜOæ ÇæPÜR¨ÜÈÉ 

________ WÝX ¿ÞÊÜâ¨æà PÜwñÜÊÜÞvÜ¸ÝÃÜ¨Üá. 

(1) 0.1 sq. m ËÔ¤à|ì¨Ü ñæÃÜ±Üâ 

(2) 0.01 sq. m ËÔ¤à|ì¨Ü ñæÃÜ±Üâ 

(3) 0.001 sq. m ËÔ¤à|ì¨Ü ñæÃÜ±Üâ 

(4) 1.0 sq. m ËÔ¤à|ì¨Ü ñæÃÜ±Üâ 
 

8. 30 Pæãà®Ü¨ÜÈÉ ±Üqr¿á®Üá° GÃÜvÜã ñÜá©WÜÙÜÈÉ 

PæãíQÔ¨ÜÃæ, ®æàÃÜÓÜÃÜÓÜÃÜÚXíñÜ A˜PÜ E Ü̈ª 

¸æàPÝ¨Ü¨Üáª (D =  ÊæáàÆá EPÜáR ÊÜáñÜá¤ ñÜÙÜ EQR®Ü 

Pæàí¨ÜÅ&Pæàí¨ÜÅWÜÙÜ ®ÜvÜáÊÜ| AíñÜÃÜ.) 

(1) 2  0·72 D 

(2) 2  0·27 D 

(3) 2  0·42 D 

(4) 2  0·24 D  

 

9. ÓÜÊÜáñÜÆ ÔÊæáíoá PÝíQÅàoá ®æÆÊÜ®Üá°  

3 m  3 m ËÔ¤à|ì¨ÜÈÉ 100 mm ¨Ü±Ü³¨ÜÈÉ  

1 : 3 : 6 ÃÜ ËáÍÜÅ|¨Ü ÔÊæáíoá PÝíQÅào®ÜÈÉ 

ÊÜÞvÜ¸æàPÝ Ü̈Ãæ ¸æàPÝWÜáÊÜ ÔÊæáíoá bàÆWÜÙÜ 

ÓÜíTæÂ 

(1) 4 bàÆWÜÙÜá 

(2) 44 bàÆWÜÙÜá 

(3) 2.6 bàÆWÜÙÜá 

(4) 26 bàÆWÜÙÜá 

10. ÓÜíÊæà¨ÜPÜñÝ ËÍæÉàÐÜOæÁáí¨ÜÃæ D A«ÜÂ¿á®Ü 

(1) ÇÝ»Ü ÊÜáñÜá¤ ®ÜÐÜrWÜÙÜ ñÜáÆ®æ 

(2) BÔ¤ ÊÜáñÜá¤ ¨ÝÀáñÜÌWÜÙÜ ñÜáÆ®æ 

(3) BWÜñÜ ©í¨ÝX ¯WÜìñÜ¨ÜÇÝÉ̈ Ü Ÿ Ü̈ÇÝÊÜOæ 

(4) Áãàg®æ¿á ÊæaÜc ÖÝWÜã ÇÝ»ÜWÜÙÜ 

B¦ìPÜñæ 

11. ±Üp…ì ËÍæÉàÐÜOæ¿áÈÉ aÜoáÊÜqPæWÜÙÜ PÝÆ 

Aí¨Ýgá ÊÜáñÜá¤ AÊÜâWÜÙÜá BWÜáÊÜ ÓÜí»ÜÊÜ¯à¿áñæ 

A®ÜáÓÜÄÓÜáÊÜâ¨Üá 

(1) ÓÝÊÜÞ®ÜÂ ËñÜÃÜOÝ ÃæàTæ 

(2) ±Ý¿áÕ®… ËñÜÃÜOÝ ÃæàTæ 

(3) ¹àpÝ ËñÜÃÜOÝ ÃæàTæ 

(4) D ¿ÞÊÜâÊÜä AÆÉ 

12. AÊÜ˜¿áá D BX¨ÜªÈÉ ES ÊÜáñÜá¤ EF WÜÙÜá 

±ÜäÊÜì±ÝÅÃÜí»Ü ÊÜáñÜá¤ ÊÜááPÝ¤¿áWÜÙÜ 

ÓÜÊÜá¿áWÜÙÜá, LS ÊÜáñÜá¤ LF WÜÙÜá ËÙÜí¹ñÜ 

BÃÜí»Ü ÊÜáñÜá¤ ÊÜááPÝ¤¿áWÜÙÜ ÓÜÊÜá¿áWÜÙÝ¨ÜÃæ 

BWÜ D PæÙÜX®Ü ÓÜíŸí«Ü ÓÜÄ 

A. EF = ES + D 

B. LS = LF – D 

C. D = EF – ES  

¯àwÃÜáÊÜ BÁáRWÜÙÜÈÉ ÓÜÄ¿Þ¨Ü EñÜ¤ÃÜPÝRX 

ÓÜíPæàñÜÊÜ®Ý°ÄÔ : 

(1) A ÊÜáñÜá¤ C ÊÜÞñÜÅ 

(2) A ÊÜáñÜá¤ B ÊÜÞñÜÅ 

(3) C ÊÜÞñÜÅ 

(4) A, B ÊÜáñÜá¤ C 



269 (5 – A ) 

7. As per IS 1200, in the measurement of 

brickwork, no deductions shall be made 

for  

(1) Opening up to 0·1 sq. m in area 

(2) Opening up to 0·01 sq. m in area 

(3) Opening up to 0·001 sq. m in area 

(4) Opening up to 1·0 sq. m in area 

 

 

8. If a bar is cranked at both ends at an 

angle of 30, then the extra length 

required when compared to a straight bar 

is (D = centre to centre distance between 

the top and bottom steel.) 

(1) 2  0·72 D 

(2) 2  0·27 D 

(3) 2  0·42 D 

(4) 2  0·24 D 

 

 

9. The number of cement bags required in 

making plane cement concrete flooring in 

an area of size 3 m  3 m and 100 mm 

thick using cement concrete of mix  

1 : 3 : 6 is  

(1) 4 Bags 

(2) 44 Bags 

(3) 2·6 Bags 

(4) 26 Bags 

10. Sensitivity analysis is a study of  

(1) Comparison of profit and loss 

(2) Comparison of assets and liabilities 

(3) Change in output due to change in 

input 

(4) Economics of cost and benefits of 

the project 

 

 

11. In PERT analysis, the time estimates of 

activities and probability of their 

occurrence follow 

(1) Normal distribution curve 

(2) Poisson’s distribution curve 

(3) Beta distribution curve 

(4) None of the above 

 

 

12. If D is the duration, ES and EF are the 

earliest start time and earliest finish 

time, LS and LF are the latest start time 

and latest finish time, then the following 

relation(s) hold(s) good : 

A. EF = ES + D 

B. LS = LF – D 

C. D = EF – ES 

Select the code for the correct answer 

from the options given below : 

(1) A and C only 

(2) A and B only 

(3) C only 

(4) A, B and C 
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13. ‘‘28 S type’’ ಕ ಾಂಕ್ರೀಟ್ ಮಿಕ್ಸರ್ ಸ ಮರ್ಥ್ಯವು  
0.8 m3. ಒಾಂದು ಘನ ಮಿೀಟರ್ ನ ಕ ಾಂಕ್ರೀಟ್ ಅನುು 
ಮಿಶ್ರಣ ಮ ಡಲು, ಸಿಮಾಂಟ್ ಪ್ರಮ ಣವು  
5.5 ಬ್ ್ಗ್ ಬ್ ೀಕ ಗುತ್ತದ . ಸಿಮಾಂಟ್ ಚೀಲಗಳ 

ಭ ಗಶ್ಃ ಬಳಕ  ತ್ಪ್ಪಿಸಲು, ಪ್ರತಿ ಬ್ ್ಚ್ ಗ  (ಒಬ್ ೆಗ ) 
ಕ ಾಂಕ್ರೀಟ್ ನ (m3) ಪ್ರಿಮ ಣದ ಮಿಶ್ರಣಗ ತ್ರ 
ಎಷ್ುು? 

(1) 0·78 

(2) 0·49 

(3) 0·73 

(4) 0·44 

14. ¹X¿Þ¨Ü gíq ÓÜÊÜáñÜÆ aèPÜoár 15 AíWÜWÜÙÜá 
ÊÜáñÜá¤ 3 ±ÜÅ£QÅ¿Þ ZoPÜWÜÙÜ®Üá° JÙÜWæãívÜá 
ÊÜáñÜá¤ 14 hæãàvÜOæWÜÚ¨ÜªÃæ ÓÝ§Àá A¯«ÝìÃÜPÜ Ü̈ 
ÊÜáor 
(1) 2 

(2) 3 

(3) 6 

(4) 8  

15. oÅÓ… AíWÜ¨ÜÈÉ ŸÆ Ü̈ I.GÇ….w. (±ÜÅ»ÝË 
Öæãíw¿á ®Üûæ) ¿á®Üá° bñÜÅ¨ÜÈÉ ñæãàÄÔ æ̈. 
Jí¨Üá ÊæàÙæ ÓÝ³é®… pÝÅÊÜÓÜìWÜÚXíñÜ 
¿áá.w.GÇ….®Ü (Jí¨æà ÓÜÊÜá®ÝX ËñÜÄÓÜÆ³or 
ÖæãÃæ) £àÊÜÅñæ¿áá 30  kN/m ®ÜÐÜár E¨ÜªË¨ÜªÈÉ. 
B AíWÜ¨Ü WÜÄÐÜr ÓÜí²àvÜ®ÜÊÜâ 

  

 

(1) 92·8 kN 

(2) 23·186 kN 

(3) 17·4 kN 

(4) 69·66 kN 

16. Jí¨Üá ¯©ìÐÜr ñÝ|¨ÜÈÉ, ÓÜÃÝÓÜÄ EÐÜ¡ñæ¿á 

ÊÜÞ«ÜÂÊÜâ 30C ÊÜáñÜá¤ WÜÄÐÜu ¨æç®Üí©®Ü EÐÜ¡ñæ¿á 

ÊÜÞ«ÜÂÊÜâ 45C. ËÊÜÞ®Ü ¯ÇÝª|¨Ü EÇæÉàUñÜ 

EÐÜ¡ñæÁáà®Üá ?  

(1) 25C 

(2) 35C 

(3) 45C 

(4) ÊæáàÈ®Ü ¿ÞÊÜâ¨Üã AÆÉ 

17. ÊÜááÆÉÃ…&¸æÅÓèÉ ñÜñÜ¤$ÌÊÜâ ±ÜÅ»ÝË ÃæàTæWæ A®ÜÌ¿á 

ÊÝWÜáÊÜâ¨Üá    

(1) ¯ÃÜíñÜÃÜ Ü̈ãÆWÜÙÜá ÊÜáñÜá¤ aèPÜoárWÜÙÜá 

(2) ±æäàoìÇ… aèPÜoárWÜÙÜá 

(3) Ô§ÃÜ¨ÜãÆ 

(4) D ÊæáàÈ®Ü GÆÉÊÜä 

18. ÓÜÊÜáñÜÆ ÃÜaÜ®æ¿á Pæç®ÜÊÜÞÂqP… (aÜÆ®ÜÍÝÔŒà¿á) 

A¯ÎcñÜñæ¿á ÊÜáorÊÜ®Üá° bñÜÅ¨ÜÈÉ ñæãàÄÔ æ̈ 

Aüà¿á ñÜá¿á¤ÊÜ®Üá° PÜvæWÜ~Ô¨ÜÃæ C Ü̈á 

  

 

(1) 4 

(2) 5 

(3) 6 

(4) 7 
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13. The capacity of a “28 S type” concrete 

mixer is 0·8 m3. For mixing one cubic 

metre of concrete, the quantity of cement 

required is 5·5 bags. In order to avoid 

fractional usage of cement bags, the 

volume of concrete (m3) to be mixed per 

batch will be 

(1) 0·78 

(2) 0·49 

(3) 0·73 

(4) 0·44 

14. Degree of static indeterminacy of a rigid 

jointed plane frame having 15 members,  

3 reaction components and 14 joints is 

(1) 2 

(2) 3 

(3) 6 

(4) 8 

15. The Influence Line Diagram (ILD) for a 

force in a truss member is shown in the 

figure. If a Uniformly Distributed Load 

(UDL) of intensity of 30 kN/m longer than 

the span traverses, then the maximum 

compression in the  member is 

  

 

(1) 92·8 kN 

(2) 23·186 kN 

(3) 17·4 kN 

(4) 69·66 kN 

16. At a certain station, the mean of the 

average temperature is 30C and mean of 

the maximum daily temperature is  

45C. What is the airport reference 

temperature ? 

(1) 25C 

(2) 35C 

(3) 45C 

(4) None of the above  

17. Muller-Breslau Principle for influence 

line is applicable for 

(1) continuous beams and frames 

(2) portal frames 

(3) fixed beam 

(4) All of the above 

18. The degree of kinematic indeterminacy of 

a plane structure shown in the figure 

neglecting axial strain, is 

 

  

 

(1) 4 

(2) 5 

(3) 6 

(4) 7 
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19. gÆÓÜíÓÜRÃÜ| ÓÝ§ÊÜÃÜ¨Ü ÓÝÊÜá¥ÜÂì 1 m3/s 

Öæãí© Ü̈áª, A¨ÜPæR 6 m  10 m AÙÜñæWÜÙÜáÙÜÛ 

Íæãà«ÜPÜWÜÙÜá CÊæ. D Íæãà«ÜPÜWÜÙÜ ñÜáíŸáÊÜ ¨ÜÃÜ 

120  m3/©®ÜPæR/m2. A®ÜíñÜÃÜ¨Ü ÍÜá©œWÝX GÃÜvÜá 

Íæãà«ÜPÜWÜÙÜá ¯Ñð¿á ÊÝX¨ÜªÃæ ±ÜäÃæçPæ 

(»Ü£ìÊÜÞvÜáÊÜ) ¨ÜÃÜÊÜâ (m3/©®ÜPæR /m2) 

(1) 144 

(2) 244 

(3) 154 

(4) 164 

20. ñÝÂgÂ ¯àÄ®Ü ¹.K.w.5 ÊÜÞ¨ÜÄ¿áá  

200 mg/Èà 20C ®ÜÈÉ C©ªñÜá. QÅ¿ÞÔ§ÃÝíPÜ  

K = 0·2 day–1 ¨æãvÜ®æ B«ÝÃÜ ‘e’ C¨ÜªÈÉ 

Aí£ÊÜá ¹.K.w.¿áá ÊÜÞ¨ÜÄWæ GÑrÃÜáñÜ¤¨æ ? 

(1) 126 mg/litre (Èà) 

(2) 544 mg/litre (Èà) 

(3) 146 mg/litre (Èà) 

(4) 316 mg/litre (Èà) 

21. Óæ²rP… ñæãqr Gí Ü̈Ãæ  

A. ÓÜíWÝÅÖÜPÜ ñæãqr. 

B. ±ÝaÜ®Ü ñæãqr. 

C. ÊÝ¿ááPÜÃÜ| ñæãqr. 

D ÊæáàÈ®Ü ¿ÞÊÜâ¨Üá  / ÊÜâ ÓÜÄ ? 

¯àwÃÜáÊÜ BÁáRWÜÙÜÈÉ ÓÜÄ¿Þ¨Ü EñÜ¤ÃÜPÝRX 

ÓÜíPæàñÜÊÜ®Ý°ÄÔ : 

(1) A ÊÜÞñÜÅ 
(2) A ÊÜáñÜá¤ B ÊÜÞñÜÅ 
(3) A ÊÜáñÜá¤ C ÊÜÞñÜÅ  
(4) C ÊÜÞñÜÅ  

22. ÆíŸ AûÜ Ü̈ ÊæáàÇæ ¨ÜãÃÜ¨ÜÍÜìPÜÊÜ®Üá° ÖÝÄg 

ÓÜÊÜáñÜÆ¨ÜÈÉ  £ÃÜáXÓÜáËPæ¿á QÅÁá¿á ÖæÓÜÃÜá 

(1) pÝÅ¯ÕqíW…  

(2) ÄÊÜÔìíW…  

(3) ±ÜÉíXíW…  

(4) ÔÌíXíW…  
 

 

23. ¹.GÊÜå…. (¸æía…  WÜá£ì®Ü) ®Ü BÃ….GÇ…. 

(PÜáXY Ü̈ ÊÜáor) 100·00 m C¨ÜªÃæ, ¸ÝÂP… Óæçp… 

1·215 m C¨ÜªÃæ ÊÜáñÜá¤ ¶æäàÃÜÓæçp…  

1·870 m C¨ÜªÃæ, ¶ÝÊÜìv…ì ÓæràÐÜ¯°®Ü 

BÃ….GÇ….ÊÜâ 

(1) 99·345 m 

(2) 100·345 m 

(3) 100·655 m 

(4) 101·870 m 

 

24. GÃÜvÜá ÓÜÃÜÙÜ ÃæàTæWÜÙÜá 60 Pæãà®Ü Ü̈ÈÉ 

dæà©ÓÜáñÜ¤Êæ. GÃÜvÜá ÓÜÃÜÙÜ ÃæàTæWÜÙÜ®Üá°  

PÜãwÓÜáËPæ¿á ¸ÝWÜá ÃæàTæ¿á £ÅgÂ 600  m  

C¨æ. ©àZìÊÝ Ü̈ hÝÂ ÊÜáñÜá¤ ÊÜá«ÜÂ 

Bwì®æàoWÜÙÜ E¨ÜªWÜÙÜá ¸ÝWÜá ÃæàTæWæ 

ÓÜíŸí˜Ô¨Üíñæ A®ÜáPÜÅÊÜáÊÝX (ËáàoÃ…WÜÙÜÈÉ) 

(1) 80·4, 600·0 

(2) 600·0, 80·4 

(3) 600·0, 39·89 

(4) 49·89, 300·0 
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19. A water treatment plant of  

capacity, 1 m3/s has filters of dimensions 

6 m  10 m. Loading rate to the filters is 

120 m3/day/m2. When two of the filters 

are out of service for backwashing, the 

loading rate (in m3/day/m2) is 

(1) 144 

(2) 244 

(3) 154 

(4) 164 

20. The BOD5 of a wastewater sample is  

200 mg/litre at 20C. The value of the 

reaction constant is K = 0·2 day–1 with 

base ‘e’. The ultimate BOD of the sample 

is 

(1) 126 mg/litre 

(2) 544 mg/litre 

(3) 146 mg/litre 

(4) 316 mg/litre 

21. Septic tank is a 

A. settling tank. 

B. digestion tank. 

C. aeration tank. 

Which of the above is/are correct ? 

Select the code for the correct answer 

from the options given below : 

(1) A only 

(2) A and B only 

(3) A and C only 

(4) C only 

22. The process of turning the telescope about 

the vertical axis in horizontal plane is 

known as  

(1) transiting 

(2) reversing 

(3) plunging 

(4) swinging 

 

 

 

23. If the Reduced Level (R.L.) and Bench 

Mark (B.M.) is 100·00 m, the backsight is 

1·215 m and the foresight is 1·870 m, the 

R.L. of the forward station is 

(1) 99·345 m 

(2) 100·345 m 

(3) 100·655 m 

(4) 101·870 m 

 

 

 

24. Two straight lines intersect at an angle of 

60. The radius of a curve joining the two 

straight lines is 600 m. The length of long 

chord and mid-ordinates, in metres, 

respectively of the curve are  

(1) 80·4, 600·0 

(2) 600·0, 80·4 

(3) 600·0, 39·89 

(4) 49·89, 300·0 
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25. 7·5  cm ÊÝÂÓÜÊÜâ PÜísÜ Ü̈ÈÉ CÃÜáÊÜ, ÊÜ̃ ìñÜ 
ñÜá©¿áÈÉ 15 cm CÃÜáÊÜ ÊæíaÜáÄ ÊÜÞ±ÜPÜÊÜ®Üá° 
ÖÝÄg ±æç±Üâ ÓÝÈ®ÜÈÉ AÙÜÊÜwÔ¨æ. ±æç±…®Ü ÊÝÂÓÜ 
15  cm. ±æç±…®ÜÈÉ AÓÜí²àvÜÂ ÊÝ×¿áá 
±ÜÅ£ÓæPæíwWæ 30 ÈàoÄ®Üíñæ ÖÜÄ¿ááñÜ¤ æ̈. 
JñÜ¤vÜ¨Ü AíñÜÃÜÊÜ®Üá° ÎàÐÜì¨ÜÈÉ AÙæ¨ÝWÜ, ËÓÜ¤ÄñÜ 
ñÜá© ÊÜáñÜá¤ ÊæíaÜáÄ ÊÜÞ±ÜPÜ¨Ü PÜísÜ¨Ü ®ÜvÜáÊæ  
ÖÜÄ¿ááÊÜ ÊÝ×¿áÈÉ ÊÜÞ²Ô¨ÝWÜ 2·45 m 

CÃÜáÊÜâ¨Ü®Üá° WÜÊÜá¯ÓÜÇÝX¨æ. WÜáÃÜáñÜÌ 
ÊæàWæãàñÜRÐÜì 9·81   m/s2, Gí¨Üá ±ÜÄWÜ~Ô¨ÜÃæ 
ÊæíaÜáÄËáàoÃ…®Ü  EñÜÕgì®æ¿á (GÃÜvÜá ÓÝ§®Ü 
¨ÜÍÜÊÜÞíÍÜWÜÚWæ ÓÜÄ±ÜwÔPæãívÜá) ÓÜÖÜWÜáOÝíPÜÊÜâ 
(1) 0·90 

(2) 0·95 

(3) 0·85 

(4) 0·74 

26. Jí¨Üá ÊÜêñÝ¤PÝÃÜ¨Ü ÊÜáñÜá¤ ÊÜáñæã¤í¨Üá aèPÝPÝÃÜ Ü̈ 

B«ÝÃÜWÜÙÜá ±ÜÅPÜqñÜÊÝX AÓÜíÓÜíg®Ü ÊÜá~¡®Ü 

ÊæáàÇæ¾„¿áÈÉÊæ, ÊÜêñÝ¤PÝÃÜ̈ Ü B«ÝÃÜ Ü̈ ÊÝÂÓÜ 

ÖÝWÜã aèPÜ B«ÝÃÜ¨Ü ¸ÝÖÜá Jí¨æà B¨ÜÃæ BWÜ 

AÊÜâWÜÙÜ Aí£ÊÜá »ÝÃÜÖæãÃÜáÊÜ ÓÝÊÜá¥ÜÂì Ü̈ 

A®Üá±ÝñÜÊÜâ 

(1) 3/4 

(2) 4/3 

(3) 1·0 

(4) 1·3 

27. Jí¨Üá ÊÜêûÜ Ü̈ÈÉ®Ü Pæàí¹¿áí ±Ü Ü̈ÃÜÊÜâ C Ü̈ÃÜ 

®ÜvÜáÊæ ®æÇæ¿ÞXÃÜáñÜ¤¨æ. 

(1) ÖæãÃÜX®Ü ñæãWÜpæ ÊÜáñÜá¤ BíñÜÄPÜ ñæãWÜpæ 

(2) BíñÜÄPÜ ñæãWÜpæ ÊÜáñÜá¤ ¯ÓÜÕñÜÌ ÊÜáÃÜ 

(3) ¯ÓÜÕñÜÌ ÊÜáÃÜ ÊÜáñÜá¤ ÊÜáÃÜ Ü̈ iàÊÝÙÜ 

(4) ÊÜáÃÜ¨Ü ÓÝÃÜÓÜñÜÌ  ÊÜáñÜá¤ iàÊÝÙÜ 

28. bñÜÅ¨ÜÈÉ ñæãàÄÔÃÜáÊÜíñæ ‘A’ ¸æíŸÆ Ü̈ÈÉ Ô§ÃÜñÜá© 

ÊÜáÖÜñÜ¤$ÌÊÜâ  

  

(1) 14·14 kN-m 

(2) 10 kN-m 

(3) ÍÜã®ÜÂ 

(4) 3 kN-m 

29. JñÜá¤ ¸ÝÉPÜ®Üá° IS 456-2000, ¨ÜÈÉ 

¯ÃÜã²ÔÃÜáÊÝWÜ ÈËáqíW…  BÙÜÊÜâ, ñÜoÓÜ§ 

AûÜ Ü̈áª ±ÜÄOÝÊÜáPÝÄ BÙÜ ‘d’ ÊÜáñÜá¤ Fe 550 

WæÅàv… EQR¯í¨Ü ŸÆÊÜ«Üì®æ ÊÜÞw¨ÝWÜ, ¹WÜá 

±ÝÍÜÌì Ü̈áª  

(1) 0·48 d 

(2) 0·53 d 

(3) 0·42 d 

(4) 0·44 d 

30. Jí¨Üá aÜoáÊÜqPæWæ BÍÝÊÝ©, ŸÖÜáÊÜáqrWæ 

Ÿ¿áÓÜáÊÜ ÊÜáñÜá¤ ¯ÃÝÍÝÊÝ© Aí¨ÝgáWÜÙÜá 

PÜÅÊÜáÊÝX 4 ©®ÜWÜÙÜá, 11  ©®ÜWÜÙÜá ÊÜáñÜá¤ 12  

©®ÜWÜÙÝXÊæ. D aÜoáÊÜqPæ¿áá ±Üä|ìÊÝWÜáÊÜ 

¯ÄàüñÜ ÓÜÊÜá¿áÊÜâ 
(1) 9 ©®ÜWÜÙÜá 
(2) 10 ©®ÜWÜÙÜá 

(3) 11 ©®ÜWÜÙÜá 

(4) 12 ©®ÜWÜÙÜá 
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25. A venturimeter, having a diameter of  

7·5 cm at the throat and 15 cm at the 

enlarged end, is installed in a horizontal 

pipeline of 15 cm diameter. The pipe 

carries an incompressible fluid at a 

steady rate of 30 litres per second. The 

difference of pressure head measured in 

terms of the moving fluid in between the 

enlarged end and the throat of the 

venturimeter is observed to be 2·45 m. 

Taking the acceleration due to gravity as 

9·81 m/s2, the coefficient of discharge of 

the venturimeter (correct up to two places 

of decimal) is 

(1) 0·90 

(2) 0·95 

(3) 0·85 

(4) 0·74 

26. Two footings, one circular and the other 

square, are founded on the surface of a 

purely cohesionless soil. The diameter of 

the circular footing is same as that of the 

side of the square footing. The ratio of 

their ultimate bearing capacities is 

(1) 3/4 

(2) 4/3 

(3) 1·0 

(4) 1·3 

27. In a tree the cambium layer is situated 

between 

(1) the outer bark and inner bark 

(2) the inner bark and sap wood 

(3) the sap wood and heart wood 

(4) the pith and heart wood 

28. For the structure shown in the figure, the 

fixed end moment at support ‘A’ is  

  

 

(1) 14·14 kN-m 

(2) 10 kN-m 

(3) zero 

(4) 3 kN-m 

29. As per the stress block defined in  

IS 456-2000, the limiting depth of neutral 

axis in a flexural member having effective 

depth ‘d’ reinforced with Fe 550 grade 

steel in tension side is 

(1) 0·48 d 

(2) 0·53 d 

(3) 0·42 d 

(4) 0·44 d 

30. The optimistic, most likely and 

pessimistic estimates for an activity are  

4 days, 11 days and 12 days respectively. 

The expected completion time of this 

activity is 

(1) 9 days 

(2) 10 days 

(3) 11 days 

(4) 12 days 
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31. BÃ….Ô.Ô. ¨ÜãÆ¨Ü AvÜx ÔàÚPæ AWÜÆ 300 mm 

ÊÜáñÜá¤ ±ÜÄOÝÊÜáPÝÄ BÙÜÊÜâ 400 mm C¨Üáª 

E±ÜÁãàXÔ Ü̈ WæÅàv… PÝíQÅàp… M20 ÊÜáñÜá¤ 

EQR®Ü WæÅàv… Fe 415 BX¨æ Aí£ÊÜá ¸ÝXPæ 

ÊÜáÖÜñÜ¤$Ì 150 kN-m AvÜxÔàÚPæ ÊæáàÇæ ÊÜ£ìÔ¨ÜÃæ 

¨ÜãÆÊÜ®Üá° ÖæàWæ Ë®ÝÂÔÓÜŸÖÜá¨ÝX¨æ 

(1) HPæçPÜ ŸÆÊÜ˜ìñÜ ¨ÜãÆ  

(2) ¨Üá±Ü³oár ŸÆÊÜ˜ìñÜ ¨ÜãÆ 

(3) ¨ÜãÆÊÜ®Üá° Ë®ÝÂÔÓÜÇÝWÜ¨Üá 

(4) ÓÜíñÜáÈñÜ ¨ÜãÆ 

32. IS 456-2000 ÃÜ ±ÜÅPÝÃÜ, PÜ¯ÐÜu PÝíQÅàoá 

¨Ühæì¿á WÜÄÐÜu ÊÜááPÜ¤ ¯àÃÜá ÔÊæáíoá A®Üá±ÝñÜ 

0·5 C¨ÝªWÜ ÊÜáñÜá¤ PÜ¯ÐÜu ÔÊæáíoá ±ÜÄÊÜÞ|  

300 kg/m3 C¨ÝªWÜ 

(1) M20 

(2) M30 

(3) M25 

(4) M35  

33. Jí¨Üá »ÝÃÜÊÝ¨Ü Ô§£ÓÝ§±ÜPÜ aæívÜá PæãsÜw¿á 

ÓÜãÄ¯í¨Ü ¹¨Üáª ÊÜáñÜá¤ ®æÆ©í¨Ü JÊæá¾ ±Üâq¨ÝWÜ, 

B ÓÜãÄ®Ü ¾ ÃÜÐÜár GñÜ¤ÃÜ̈ ÜÊÜÃæWÜã ñÜÆá±ÜâñÜ¤ æ̈. 

±ÜäÊÝìÊÜÓæ§¿á WÜáOÝíPÜÊÜâ 

(1) 
2

3
 

(2) 
3

2
 

(3) 
3

1
 

(4) ÊæáàÈ®Ü ¿ÞÊÜâ¨Üã AÆÉ 

34. 2017 ÃÜ ËÍÜÌ ±ÜÄÓÜÃÜOÝ ©®Ü¨Ü ÊÜááSÂ BÍÜ¿á 

Êæà®Üá ? 

(1) g®ÜÃÜ®Üá° ±ÜÅPÜê£Áãí©Wæ hæãàwÓÜáÊÜâ¨Üá & 

®ÜWÜÃÜ¨ÜÈÉ ÊÜáñÜá¤ »ÜãËá¿á ÊæáàÇæ 

«ÜáÅÊÜWÜÚí¨Ü ÓÜÊÜá»ÝgPÜ¨ÜÊÜÃæWæ 

(2) HÙÜá ¹È¿á®…  PÜ®ÜÓÜáWÜÙÜá, Jí¨Üá WÜÅÖÜ, 

PÝÙÜiÀáí¨Ü ŸÙÜPæ 

(3) ÖÜÔÃÜá B¦ìPÜñæ : ¯à®Üá A¨ÜÃÜ 

»ÝWÜÊÝXÃÜáÊæ¿Þ ?  

(4) AÃÜ|ÂWÜÙÜá : ±ÜÅPÜê£ ¯ÊÜá¾ ÓæàÊæ¿áÈÉ 

35. IS 800-2007 ÃÜ ±ÜÅPÝÃÜ, ®ÝÊÜá ÊÜÞñÜÅ £ÃÜáaÜá 

ÓÝÊÜá¥ÜÂì M20 æ̧ãàÇ…r 4·6 WæÅàv…®Ü¨Üá. Jí Ü̈á 

£ÃÜáaÜá ÓÜÊÜáñÜÆÊÜâ ¸æãàÇ…r ÐÝíP…  ÊÜáñÜá¤ Jí Ü̈á 

£ÃÜáaÜáÓÜÊÜáñÜÆÊÜâ GÙæ CÃÜáÊÜ »ÝWÜ¨ÜÈÉ ÓÝX¨ÝWÜ 

(1) 45·27 kN 

(2) 117·52 kN 

(3) 56·21 kN 

(4) 129·14 kN 

36. IS 800-2007, ÃÜ ±ÜÅPÝÃÜ ÇæàÔíW… ÓÜÃÜÚWæ 

ÓÜíŸí˜Ô¨Üíñæ EQR̄ í¨Ü ¯ËáìñÜ ÓÜí²àvÜ®Ü 

AíWÜ Ü̈ÈÉ ÓæÉívÜÃ…®æÓ… A®Üá±ÝñÜÊÜâ C¨Ü®Üá° 

ËáàÃÜ¸ÝÃÜ Ü̈á 

(1) 180 

(2) 250 

(3) 330 

(4) 145 
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31. A reinforced cement concrete beam 

section has a size of 300 mm width and 

400 mm effective depth, the grade of 

concrete used is M20 and grade of steel is 

Fe 415. If the ultimate bending moment 

of 150 kN-m acts at the section, the beam 

has to be designed as 

(1) Singly reinforced beam 

(2) Doubly reinforced beam 

(3) Beam cannot be designed 

(4) Balanced beam 

32. According to IS 456-2000, the minimum 

grade of concrete with maximum free 

water to cement ratio of 0·5 and minimum 

cement content of 300 kg/m3 is 

(1) M20 

(2) M30 

(3) M25 

(4) M35 

33. A heavy elastic ball drops from the ceiling 

of a room, and after rebounding once  

from the floor, reaches a height equal to 

three-fourth that of ceiling. The 

coefficient of restitution is 

(1) 
2

3
 

(2) 
3

2
 

(3) 
3

1
 

(4) None of the above 

34. What is the theme of the World 

Environment Day 2017 ?  

(1) Connecting people to Nature – in 

the city and on the land from poles 

to equator 

(2) Seven Billion Dreams, one planet, 

consume with care 

(3) Green Economy : Are you a part of  

it 

(4) Forests : Nature at your service 

 

35. According to IS 800-2007, the nominal 

shear capacity of M20 bolt of grade 4·6 

with one shear plane passing through bolt 

shank and one shear plane passing 

through threaded portion is 

(1) 45·27 kN 

(2) 117·52 kN 

(3) 56·21 kN 

(4) 129·14 kN 

 

36. According to IS   800-2007, the 

slenderness ratio of lacing bars in a  

built up steel compression member shall 

not exceed 

(1) 180 

(2) 250 

(3) 330 

(4) 145 
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37. Óæ³$É„Ó… ±æÉào®Üá° EPÜáR ÓÜ¤í»ÜPÝRX ÓÝÊÜÞ®ÜÂÊÝX 

Ë®ÝÂÓÜWæãÚÓÜáÊÜâ¨Üá ×àWæ 

(1) XvÜx ÓÜ¤í»Ü 

(2) E¨Üª ÓÜ¤í»Ü 

(3) ÊÜá«ÜÂíñÜÃÜ ÓÜ¤í»Ü 

(4) ÓæÉívÜÃ…®æÓ… (PÜêÍÜñÜÌ) A®Üá±ÝñÝ«ÝÄñÜ 

 

 

38. ÓÜíŸ Ü̈œ ¨ÜãÆ Ë«Ý®Ü¨ÜÈÉ , ÊÝÓÜ¤ÊÜ ¨ÜãÆ Ü̈ Ô§ÃÜ 

¸æíŸÆÊÜ®Üá° __________ B«ÝÃÜ Gí¨Üá ÓÜíŸ«Üœ 

¨ÜãÆ¨ÜÈÉ ±ÜÄWÜ~ÓÜÇÝWÜáÊÜâ¨Üá. 

(1) ÊÜááPÜ¤ 

(2) ×íh… (QàÆá) 

(3) Ô§ÃÜ 

(4) ÃæãàÆÃ…  
 

39. 50 mm B«ÝÃÜ ÃæàTæ¿á ÆíŸPæãà®Ü £ÅPæãà®Ü Ü̈ 

GñÜ¤ÃÜ 75 mm C¨Üáª C Ü̈ÃÜ ñÜÆÊÜ®Üá° ÖÝÄg Ü̈ 

ÊæáàÈÄÔ¨ÝWÜ £ÃÜáaÜáŸÆ F Wæ JÙÜ±ÜpÝrWÜ 

gvÜñÝ ÊÜáÖÜñÜ¤$ÌÊÜâ ‘I’ AûÜ¨Ü ÊæáàÇæ WÜáÃÜáñÜÌ 

Pæàí¨ÜÅ Ü̈ ÊÜáãÆPÜ ÖÝ¨ÜáÖæãàWÜáÊÜ B«ÝÃÜPæR 

ÓÜÊÜÞíñÜÃÜ ÊÝX¨ÝªWÜ WÜáÃÜáñÜÌ Pæàí Ü̈Å¨Ü ÊÜáãÆ Ü̈ 

ÖÝ¨ÜáÖæãàWÜáÊÜ AûÜ Ü̈ÈÉ®Ü £ÃÜáaÜáŸÆÊÜâ 

(1) 416·67 F/I 

(2) 449·67 F/I 

(3) 316·67 F/I 

(4) 492·2 F/I 

40. 300 mm AWÜÆ ÖÝWÜã ±ÜÄOÝÊÜáPÝÄ BÙÜ 

500  mm CÃÜáÊÜ B¿áñÝPÝÃÜ Ü̈ ¨ÜãÆ¨Ü »ÝWÜ Ü̈ 

pæ®æÕ„Ç… ŸÆÊÜ«Üì®æ¿áá 1346 mm2 C æ̈ 

¨ÜãÆÊÜ®Üá° M20 WæÅàv… PÝíQÅàp…ŸÙÜÔ ÊÜáñÜá¤  

Fe 415 EQR®ÜÈÉ  M ¨ÜãÆÊÜ®Üá° ñÜ¿ÞÄÔ æ̈. 

ñÜoÓÜ§ AûÜÊÜ®Üá° ÇæPÜRÊÜÞw 

(1) 225 mm 

(2) 2·22 mm 

(3) 135 mm 

(4) 240 mm 

41. ±ÜäÊÜì ¹XñÜPæãRÙÜ±ÜwÔ¨Ü ¨ÜãÆWÜÚWæ ÓÜãPÜ¤ 

ÊÜÂÊÜÓæ§¿áá 

(1) Öæã¿áÃ…  

(2) ¶æÅÔÕ®æp…  

(3) Ãæãà¹ÉíW…  

(4) ¹.¹.BÃ….Ë. ÊÜÂÊÜÓæ§ 

42. ÊÜêñÝ¤PÝÃÜ Ü̈ ñÜWÜw®Ü ÊÝÂÓÜ d B¨ÜÃæ. A Ü̈ÃÜ 

±æäàÇÝÃ… gvÜñÝ ÊÜáÖÜñÜ¤$ÌÊÜâ (ÊæãÊæáíp… B¶… 

C®ÜÑì¿Þ) Ip = 

(1) 
32

d4
 

(2) 
64

d4
 

(3) 
128

d4
 

(4) 
254

d4
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37. The splice plate for the steel column is 

generally designed as 

(1) Short column  

(2) Long column 

(3) Intermediate column 

(4) Based on slenderness ratio 

 

 

38. In the conjugate beam method, the fixed 

support in actual beam is considered as 

_________ support in the conjugate beam. 

(1) Free 

(2) Hinge 

(3) Fixed 

(4) Roller 

 

 

39. A right-angled triangle with base 50 mm 

and height 75 mm is placed with its base 

horizontal, subjected to shear force of F. If 

moment of inertia is ‘I’ about the axis 

passing through centroid parallel to the 

base, then the shear stress at the axis 

passing through the centroid is 

(1) 416·67 F/I 

(2) 449·67 F/I 

(3) 316·67 F/I 

(4) 492·2 F/I 

40. A rectangular beam section of 300 mm 

width and 500 mm effective depth has 

tensile reinforcement of 1346 mm2. The 

beam M is constructed using M20 grade 

concrete and Fe 415 steel. Calculate the 

neutral axis. 

(1) 225 mm 

(2) 2·22 mm 

(3) 135 mm 

(4) 240 mm 

 

 

41. The suitable system for pretensioned 

beams is  

(1) Hoyer 

(2) Freyssinet 

(3) Roebling 

(4) BBRV system 

 

 

42. The polar moment of inertia of a circular 

lamina of diameter d is, Ip =  

(1) 
32

d4
 

(2) 
64

d4
 

(3) 
128

d4
 

(4) 
254

d4
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43. ËñÜÃÜPÜPÝRX Joár WÝÅÓ… PÜÊÜÞívæv… HÄ¿Þ = 

6000 ÖæPæràÃ… B¨ÜÃÜÈÉ 80% »ÝWÜ PÜêÑÓÝ«ÜÂñæ¿á 

ÊÜáñÜá¤ ¯àÃÝÊÜÄ¿á Ü̈á. TÝÄ¶…  MáñÜáË®Ü 

¯àÃÝÊÜÄ¿á £àÊÜÅñæ¿áá 25% B¨ÜÃæ, TÝÄ¶…  

MáñÜáË®ÜÈÉ  _______ ÖæPæràÃ… ±ÜÅ¨æàÍÜ¨ÜÈÉ  

¯àÃÝÊÜÄ J Ü̈XÓÜŸÖÜá¨Üá. 

(1) 600 

(2) 1200 

(3) 2400 

(4) 4800 

44. hæçËPÜ ËáÍÜÅ|¨Ü ÊÜá«ÜÂÓÝÃÜ¨ÜÈÉ, ÓÜÉv…j (ÃÝw) 

AQÕÊæàp…  ÊÜÞvÜáÊÝWÜ ___ ®Üá° ÓæàÄÓÜáÊÜâ¨ÜÄí Ü̈, 

PÜÃÜWÜŸÆÉ ÓÝÊÜ¿áÊÜ ÃÜÓÝ¿á¯PÜWÜÙÜ®Üá° ñæWæ¿áÆá 

ÓÝ«ÜÂ. 

(1) BQrÊæàpæv…  PÝŸì®…  

(2) BÆí 

(3) PæãÉàÄ®…  

(4) WÜqr Ÿ|¡ 

 

45. PèŸì®… Ë«Ý®Ü¨ÜÈÉ ÓæàñÜáÊæ¿á Ë®ÝÂÓÜÊÜ®Üá° 

E¨Üª ÊÜáñÜá¤ AWÜÆ¨Ü A®Üá±ÝñÜÊÜâ _______ ÊÜáñÜá¤ 

______ ÃÜ ®ÜvÜáÊæ C¨ÝªWÜ A®ÜÌÀáÓÜŸÖÜá¨Üá. 

(1) 1, 4 

(2) 2, 4 

(3) 3, 4 

(4) 5, 4 

46. Ë®ÝÂÔñÜ ÊÜåèÆÂWÜÚXíñÜ Öæbc®Ü Çæãàv… (ÖæãÃæ) 

ÊÜáñÜá¤ (aÜÆ®æ) ÊÜáãÊ…Êæáíp…WÜÙÜ®Üá° 

ñÝÚPæãÙÜáÛÊÜ ¸æàÄíW… PæÙÜX®ÜÊÜâWÜÙÜÈÉ ¿ÞÊÜâ¨Üá ? 

(1) ÃÝPÜÃ…  
(2) ÓæÉ„v… ±æÉàp…  
(3) ÔràÇ… ÃæãàÆÃ…  
(4) GÇÝÓæãràÊæáÄP…  

47. PæÙÜWæ ÓæràiíW… CÆÉ¨æÁáà ².GÓ….Ô.®ÜÈÉ 
(±ÜäÊÜì JñÜá¤ PÝíQÅàp…®Ü A˜ÓÜÌÃÜã±Ü¨ÜÈÉ) 
ñÜáí¸Ý E¨Üª®æ¿á ¹Åv…j PÜoárÊÝWÜ D PæÙÜX®Ü 
¿ÞÊÜ ¯©ìÐÜr ÊÜÂÊÜÓæ§¿áá ÓÜãPÜ¤ ÊÝWÜáñÜ¤¨æ ? 
(1) ÓæW…ÊæáíoÇ… (SívÝñÜ¾PÜ) 
(2) Èà¯¿áÃ…  (ÃæàUà¿á) 

(3) Óæràh…  (ÊÜágÆá/ÖÜíñÜ) 

(4) Óæçv…ÊÝÇ… (Ÿ©Wæãàvæ) 

48. JÙÜ ŸÃÜáÊÜ ÊÜáñÜá¤ ÖæãÃÜ ÖæãWÜáÊÜ ¯àÄ®Ü ÓÜíÓÜRÃÜOÝ 
ÓÝ§ÊÜÃÜ Ü̈ ÊÜÞ²ñÜ pH ÊÜåèÆÂWÜÙÜá PÜÅÊÜáÊÝX  

7·3  ÊÜáñÜá¤ 8·5 BX¨ÝªWÜ, ¯àÄ®Ü ÓÜÃÝÓÜÄ pH GÐÜár ? 

(pH ®Ü Èà¯¿áÃ… ÊÜÂñÜÂ¿áÊÜ®Üá° ÓÜÊÜá¿á æ̈ãí©Wæ 
F×Ô) 

(1) 6·55 

(2) 7·57 

(3) 8·12 

(4) 9·23 

49. Jí¨Üá ®ÜWÜÃÜ Ü̈ g®ÜÓÜíTæÂ 100000 ÊÜáñÜá¤ ¯àÄ®Ü 
ÓÜÃÝÓÜÄ ¸æàwPæ ¨ÜÃÜÊÜâ 160 Èà/ñÜÇæWæ/©®ÜPæR. 
±ÜÅ£Áãí¨Üã 9 m  5 m AÙÜñæ¿á GÐÜár 
µÆrÃ…WÜÙÜá ¯àÃÜ®Üá° ÍÜá©œàPÜÄÓÜÆá ¸æàPÝWÜáñÜ¤ æ̈. 
ÓÜÃÝÓÜÄ µÇæóàÐÜ®… ¨ÜÃÜ 4500 Èà/Zí/Ëáà2 

Gí¨Üá »ÝËÔ. 
(1) 1 

(2) 2 

(3) 4  

(4) 5 
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43. The gross commanded area for a 

distributary is 6000 hectares, 80% of 

which is culturable irrigable. The 

intensity of irrigation for Kharif season is 

25%. The area to be irrigated in Kharif 

season is _______ hectares. 

(1) 600 

(2) 1200 

(3) 2400 

(4) 4800 

 

 

44. Removal of soluble organic chemicals is 

possible by the addition of ________ to the 

biological mixed liquor of an activated 

sludge process. 

(1) activated carbon 

(2) alum 

(3) chlorine 

(4) strong colour 

 

 

45. Courbon’s method of design of bridge is 

applicable when the ratio of span width is 

between ____ and ____ . 

(1) 1, 4 

(2) 2, 4 

(3) 3, 4 

(4) 5, 4 

46. Which one of the following bearings are 

forgiving in that they can tolerate loads 

and movements exceeding the design 

values ? 

(1) Rocker 

(2) Slide plate 

(3) Steel roller 

(4) Elastomeric 

47. Which of the systems are particularly 

suited for construction of pre-stressed 

concrete superstructure of long span 

bridges without the use of staging from 

below ? 

(1) Segmental 

(2) Linear 

(3) Stage 

(4) Sidewall 

48. The measured pH values of incoming and 

outgoing water at a water treatment 

plant are 7·3 and 8·5 respectively. What is 

the average pH of water, assuming linear 

variation of pH with time ? 

(1) 6·55 

(2) 7·57 

(3) 8·12 

(4) 9·23 

49. A city has a population of 100000 with an 

average rate of demand of 160 litres per 

head per day. What is the actual number 

of filters required if the size of each filter 

is 9 m  5 m ? Assume the average 

filtration rate as 4500 litres per hour per 

m2. 

(1) 1 

(2) 2 

(3) 4 

(4) 5 
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50. 5 ©®ÜWÜÙÜ ±ÜÄ±ÜPÝÌÊÜÓæ§¿á ®ÜíñÜÃÜ, 20C ®ÜÈÉ  
1·0% ¨ÜáŸìÆ ÊÜÞ¨ÜÄ¿á ±ÝÅÃÜí¼PÜ ÊÜáñÜá¤ 
AíñÜÂ¨Ü DO (ËÈà®ÜPÜ AQÕg®Ü) WÜÙÜá PÜÅÊÜáÊÝX 
5·0 mg/Èà ÊÜáñÜá¤ 4·0  mg/ÈàWæ C¨ÜªÃæ, A æ̈à 
ÊÜÞ¨ÜÄWæ 5 ©®ÜWÜÙÜ BOD ¿áá mg/Èà ®ÜÈÉ 
GÑrÃÜáñÜ¤ æ̈ ? 
(1) 50 

(2) 100 

(3) 150 

(4) 200 

51. Jí¨Üá WæÃæ¿á ÃævÜãÂÓ…x ¸æàÄíW… N 45E 

B¨ÜÃæ. B ±Üä|ì ÊÜêñÜ¤ Ü̈ ¸æàÄíW…ÊÜâ _______ . 

(1) 135 

(2) 45 

(3) 315 

(4) 225 

52. E±ÜPÜÃÜ| GñÜ¤ÃÜ 1·5 m ÓÝré¶…®Ü E¨Üª 4 m C æ̈ 
Gí¨Üá PæãívÜÈÉ »ÜãËá¿á CÚhÝÃÜá 10 ÃÜÈÉ,  
1 BXÃÜÆá  PæÙÜ & CÚhÝÄ®ÜÈÉ Óæçq®Ü E¨Üª _____ 

Ëáà. XíñÜ QRíñÜ PÜwÊæá CÃÜ̧ æàPÜá. 

(1) 15 

(2) 20 

(3) 25 

(4) 30 

53. E±ÜPÜÃÜ|¨æãÙÜWæ ¹ÇæÉWÜÙÜá C¨ÝªWÜ A¥ÜÊÝ 
AñÜáÂaÜfÊÝX ÓÜíü±Ü¤ wioÇ… ¸ÝÃ…  
Pæãàv…WÜÙÜ®Üá° »ÝÅÊÜáPÜ WÝi®Ü ÔÈívÜÃ…WÜÙÜ   
ÊæáàÇæ PæãÃæ©¨ÝªWÜ ___________ ÊÜÞWÜìWÜÙÜÈÉ 
A˜PÜ ÊæãñÜ¤ Ü̈ ÓÝ§®Ü Ü̈ E±ÜPÜÃÜ|WÜÙÜá Pæãà®ÜWÜÙÜ®Üá° 
ÊÜÞ±Ü®Ü ÊÜÞvÜáñÜ¤Êæ 
(1) Ä¶ÝÅûÜ®…  

(2) GÇæPæãóàB²rPÜÇ… ÓÝRé¯íW…  

(3) ÃæàwÁáàÐÜ®…  

(4) wipæçÓæàÐÜ®…  

54. ËáÍÜÅ pÝÅµP…  ÓÜí Ü̈»ÜìWÜÚWæ, ÖÝÄg Öæ¨ÝªÄ 

£ÃÜáË®Ü £ÅgÂ 500 m, ÊæàWÜÊÜâ 100 kmph 

C¨ÝªWÜ A˜ E®Ü°£¿á ¨ÜÃÜÊÜâ _______ . 

(1) 0·220 

(2) 0·089 

(3) 0·057 

(4) 0·0108 

55. ÖÝÄg ±ÜÄOÝÊÜáPÝÄ ñÜá¿á¤ 
h

  ÊÜáñÜá¤ ÆíŸ 

±ÜÄOÝÊÜáPÝÄ ñÜá¿á¤ v  WÜã CÃÜáÊÜ 

A®Üá±ÝñÜÊÜ®Üá° ×àWæ®Ü°ŸÖÜá¨Üá. 

(1) ÓÜáÃÜûÜñÝ ñÝÙÜáËPæ¿á ÓÝÊÜá¥ÜÂì 

(2) KÃæ »ÜãËá¿á JñÜ¤vÜ¨Ü WÜáOÝíPÜ 

(3) ZÐÜìOæ 

(4) ±ÜÅÍÜÓÜ¤ A®Üá±ÝñÜ 

56. D PæÙÜX®Ü ¿ÞÊÜ Jí¨Üá ¹í¨ÜáË®Ü AíÍÜÊÜ®Üá° 

Jí¨Üá A¥ÜÊÝ ÖæaÜác aÜoáÊÜqPæWÜÙÜ AÃÜí»Ü 

A¥ÜÊÝ AíñÜÂ Ü̈ aÜoáÊÜqPæWÜÙÜÈÉ, B ÓÜÊÜá¿á¨ÜÈÉ 

PæÆÊÜâ ÐÜÃÜñÜá¤WÜÙÜ®Üá° ±Üä|ìWæãÚÓÜ¸æàPÝWÜáñÜ¤ æ̈ ? 

(1) BQrËq (aÜoáÊÜqPæ) 

(2) ®æoÊÜP…ì   

(3) DÊæíp… (Zo®æ) 

(4) ®æãàv… (¹í¨Üá) 

57. ±ÝÅhæP…r®Ü BÃÜí¼ñÜ ÖÜíñÜ Ü̈ÈÉ, Cíi¯¿áÄíW… 

Ë®ÝÂÓÜ PæÆÓÜWÜÙÜÈÉ A®ÜÌÀáÔ¨ÝWÜ Ëá£WÜÙÜ®Üá° 

Öæãí©ÃÜáÊÜíñÜÖÜÊÜâ PæÙÜX®ÜÊÜâWÜÙÜÈÉ ¿ÞÊÜâÊÝXÊæ ? 

(1) Ô.².Gí. 

(2) ±Üp…ì  

(3) vÜËá¾ aÜoáÊÜqPæ 

(4) GÔrÊæáàp… (Aí¨Ýgá) 
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50. If initial Dissolved Oxygen (DO) and final 

DO after 5 days incubation at 20C in 

1·0% dilution sample are 5·0 mg/L and  

4·0 mg/L respectively, what is 5-day BOD 

of the same sample in mg/L ? 

(1) 50 

(2) 100 

(3) 150 

(4) 200 

51. If the reduced bearing of a line is N 45 E, 

then its whole circle bearing is _______ . 

(1) 135 

(2) 45 

(3) 315 

(4) 225 

52. Keeping the instrument height as 1·5 m, 

length of staff 4 m, the slope of the 

ground as 1 in 10, the sight on the  

down-slope, must be less than _______ m. 

(1) 15 

(2) 20 

(3) 25 

(4) 30 

53. Most total station instruments measure 

angles by means of ______ of extremely 

precise digital bar-codes etched on 

rotating glass cylinders or discs within 

the instrument. 

(1) Refraction 

(2) Electro-optical scanning 

(3) Radiation 

(4) Digitization 

54. For mixed traffic conditions, rate of 

superelevation for horizontal highway 

curve of radius 500 m and a speed of  

100 kmph is  

(1) 0·220 

(2) 0·089 

(3) 0·057 

(4) 0·0108 

55. The ratio of the horizontal effective 

stress, 
h

  to the vertical effective stress, 

v is termed as  

(1) Safe Bearing Capacity 

(2) Coefficient of lateral earth pressure 

(3) Friction 

(4) Optimum ratio 

56. Which one of the following is a point in 

time when certain conditions have been 

fulfilled, such as the start or completion 

of one or more activities ? 

(1) Activity 

(2) Network 

(3) Event 

(4) Node 

57. Which one of the following does have 

some limitations when applied to detailed 

engineering design work during early 

stages of a project ? 

(1) CPM 

(2) PERT 

(3) Dummy activity 

(4) Estimate 
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58. ÊÜá«ÜÂ ÃæàTæ¿á ÊÜêñÝ¤PÝÃÜ £ÅgÂ 1000  m 

®æãí©Wæ Jí¨æà ÓÜÊÜá®Ý Ü̈ A±…  WæÅàw¿áíp…  

500 ÃÜÈÉ Jí¨Üá (1) CÃÜáÊÜ HÄ¿á »ÝWÜ¨ÜÈÉ 

Pæàí¨ÜÅ Ü̈ÈÉ 180 £ÃÜáÊÜâ C¨æ, Gí¸ÝÂíP…Êæáíp… 

PæÙÜX®Ü ñÜá©¿áÈÉ GñÜ¤ÃÜ 1 m C¨æ ÊÜáñÜá¤ 

Óæçv…ÓæãÉà±…WÜÙÜá 2 : 1 B¨ÜÃæ ____  1000 m3 

BXÃÜáÊÜ »Üã PÝ¿áìÊÜâ JÙÜWæãíw æ̈. 

(1) 24·5 

(2) 25·5 

(3) 26·5 

(4) 27·5 

59. PÜ|Óæçgá ËÍæÉàÐÜOæ¿áÈÉ D PæÙÜX®Ü ¶ÜÈñÝíÍÜ 

±Üvæ¿áÇÝX æ̈ : 

HPÜÃÜã±ÜñÝ WÜáOÝíPÜ = 8 

¸ÝXPæ WÜáOÝíPÜ = 2·8 

75 IS gÃÜw¿áÈÉ ÖÝ¨ÜáÖæãàWÜáÊÜ ÊÜá|á¡ 
ÓæàPÜvÝÊÝÃÜá = 10% 

4·75 mm IS gÃÜw¿áÈÉ ÖÝ¨ÜáÖæãàWÜáÊÜ 
ÊÜá|á¡ ÓæàPÜvÝÊÝÃÜá = 70% 

Jí¨Üá ÊæàÙæ ÊÜá~¡®Ü Ü̈ÅÊÜËá£ ÊÜáñÜá¤ ±ÝÉÔrP…  
(®ÜÊÜáÂ) Ëá£¿áá PÜÅÊÜáÊÝX Íæà. 38 ÊÜáñÜá¤ Íæà. 
34·2 BXÊæ. IS ÊÜá|á¡ ÊÜXàìPÜÃÜ| ±Ü¨Üœ£¿áÈÉ 
ÊÜá|¡®Üá° ×àWæ ÊÜXìPÜÄÓÜÇÝWÜáÊÜâ¨Üá 

(1) SP-SM 

(2) SW-SM 

(3) SP-SC 

(4) SW-SC 

60. ¸æípæã®æçp… hæàw¿áá C Ü̈PæR E¨ÝÖÜÃÜOæ 

(1) PæÁãàÈ®æçp…  

(2) ÊæãíoÊæãÄÇæãà®æçp…  

(3) ÊÜËáìPÜáÂÇæàp…  

(4) CÇæÉ„p…  

61. ËñÜÃÜOæ¿ÞWÜ¨Ü ÊÜÞ¨ÜÄ ÊÜá~¡®Ü ÓÜËáñÜWæãÚÔ Ü̈ 

(AíPæÀáÆÉ Ü̈) ÓÜí²àvÜ®ÝÓÝÊÜá¥ÜÂìPÜãR ÊÜáñÜá¤ 

A¨æà ¯àÄ®Ü ZoPÜ©í¨Ü ÊÜáÃÜáÃÜã²Ô Ü̈ 

ÊÜÞ¨ÜÄWÜã CÃÜáÊÜ A®Üá±ÝñÜÊÜâ 

(1) ±ÝÉÔrÔq (®ÜÊÜáÂñÝ) WÜáOÝíPÜ 

(2) ¦PæãÕàpæãÅ² 

(3) ÓÜíÊæà¨ÜPÜñæ 

(4) ÓÜQÅ¿áñæ 

62. 50 gm ®Ü JÇæ¿áÈÉ J|XÔ¨Ü 5 WÝñÜÅWÜÙÜ ÊÜá~¡®Ü 

ÊÜÞ¨ÜÄWÜÙÜÜá° D PæÙÜX®Ü ±Üqr¿á ÄàñÝÂ 

ÖæçvÝÅËáàoÃ… ËÍæÉàÐÜOæWæ JÙÜ±ÜwÓÜÇÝX¨æ ÊÜáñÜá¤ 

1000 cc ¿á PÜÈÆÊÜ®Üá° Ô¨Üœ±ÜwÔ¨æ ÊÜáñÜá¤ 

hÝw¿áÈÉ 30 cm GñÜ¤ÃÜ¨Ü ÊÜÃæWæ ñÜáíŸÇÝX æ̈. 
 

PÜ|WÝñÜÅ 
(mm) 

ñÜãPÜ  
(gm) 

0·06 6 

0·05 20 

0·03 15 

0·015 5 

0·004 4 

 

ÊÜá~¡®Ü Z®Ü¨Ü ÓÝ±æàûÜ ÓÝí¨ÜÅñæ 2·7, ÊÜá~¡®Ü 

ñæàÆáPÜ|¨Ü Ô°WÜœñæ  1  10–6 kN sec/m2 C Ü̈ªÃæ 

hÝw¿á ñÜÙÜ¨ÜÈÉ GÆÉ PÜ|WÜÙÜá ÓÜíaÜ¿á ÊÝWÜÆá 

ñÜWÜÆáÊÜ ÓÜÊÜá¿á 

(1) 2 Zípæ 16 ¯ËáÐÜ 

(2) 5 Zípæ 37 ¯ËáÐÜ 

(3) 11 Zípæ 55 ¯ËáÐÜ 

(4) 23 Zípæ 50 ¯ËáÐÜ 
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58. A portion of an embankment having a 

uniform up-gradient 1 in 500 is circular 

with radius 1000 m of the centre line. It 

subtends 180 at the centre. If the height 

of the bank is 1 m at the lower end, and 

side slopes 2 : 1, the earth work involved 

is ______  1000 m3. 

(1) 24·5 

(2) 25·5 

(3) 26·5 

(4) 27·5 

59. Following results are obtained from 

particle size analysis :  

Uniformity coefficient = 8 

Coefficient of curvature = 2·8 

Percentage of soil passing through 75 IS 

sieve = 10% 

Percentage of soil passing through  

4·75 mm IS sieve = 70% 

If liquid limit and plastic limit for the soil 

are 38% and 34.2% respectively, the soil 

can be classified as per IS soil 

classification system as 

(1) SP-SM 

(2) SW-SM 

(3) SP-SC 

(4) SW-SC 

60. Bentonite clay is an example for 

(1) Kaolinite 

(2) Montmorillonite 

(3) Vermiculite 

(4) Illite 

61. Ratio of unconfined compressive strength 

of an undisturbed sample of soil to that of 

a remoulded sample at the same water 

content is known as 

(1) Plasticity index 

(2) Thixotropy 

(3) Sensitivity 

(4) Activity 

 

 

62. 50 gm of oven dried soil of five sizes 

shown in the table is taken for 

hydrometer analysis and 1000 cc of 

suspension is prepared and filled in a jar 

up to 30 cm height. 

Particle size 

(mm) 

Weight 

(gm) 

0·06 6 

0·05 20 

0·03 15 

0·015 5 

0·004 4 

If specific gravity of soil solids is 2·7 and 

viscosity of soil water suspension is  

1  106 kN sec/m2, the time required for 

all the particles to settle to the bottom of 

the jar is 

(1) 2 hr 16 min 

(2) 5 hr 37 min 

(3) 11 hr 55 min 

(4) 23 hr 50 min 
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63. CqrWæPÜÆáÉ PæÆÓÜ¨ÜÈÉ ŸÙÜÓÜáÊÜ CqrWæWÜÙÜ®Üá° 

ŸÙÜÓÜáÊÜ ÊÜáá®Ü° ¯àÄ®ÜÈÉ ®æ®æÓÜÆá PÝÃÜ|Êæà®Üá ? 

(1) «ÜãÙÜ®Üá° ñæWæ¨ÜáÖÝPÜÆá 

(2) WÝÚ¿á ñæÃÜ±ÜâWÜÙÜ®Üá° PÜwÊæá ÊÜÞvÜÆá 

(3) ¯àÄ¯í¨Ü B¨ÜÅìñæ¿á PÜáXYPæ¿á®Üá° 

PÜvæ×w¿áÆá 

(4) ÖÜÃÜÙÜáWÜoárËPæ¿á®Üá° PÜwÊæá ÊÜÞvÜÆá 

64. D PæÙÜX®Ü PæçWÝÄPæWæ ±ÜÄÓÜÃÜ ±ÜÄOÝÊÜá 

ÊÜåèÆÂ¯«ÝìÃÜ (C.I.G.) ÊÜÃÜ© Ô¨Üœ±ÜwÔ 

±ÜÄÓÜÃÜ ÊÜáñÜá¤ AÃÜ|Â ÓÜbÊÝÆ¿á¨Ü A®ÜáÊÜá£ 

±Üvæ¿ááÊÜâ¨ÜÃÜ AWÜñÜÂËÆÉ ? 

(1) EÐÜ¡ Áãàg®æWÜÙÜá 

(2) ®ÜãÂQÉ¿áÃ… Áãàg®æWÜÙÜá 

(3) ÖæçvæãÅà Áãàg®æWÜÙÜá 

(4) PæçWÝÄPæWÜÙÜÈÉ 5 PæãàqWÜã PÜwÊæá ÖÜãwPæ 

CÃÜáÊÜíñÜÖÜÊÜâ 

65. ÐÝ¶Ür¯í¨Ü ÊÜWÝìÊÜOæ BWÜáÊÜ (ÍÜQ¤) ÓÝÊÜá¥ÜÂì Ü̈ 

ÓÜËáàPÜÃÜ| (ÊÝp…ÕWÜÙÜÈÉ) 

(1) P = 
NT2

60


 

(2) P = 
60

NT2
 

(3) P = 
60

NT4
 

(4) P = 
NT4

60


 

CÈÉ : 

N = rpm ®ÜÈÉ ÊæàWÜ ÊÜáñÜá¤ T ¿áá »ÝÅÊÜáPÜ 

66. ISO 14012 C¨ÜPæR ÊÜÞWÜì¨ÜÍÜì®Ü ¯àvÜá£¤ æ̈ 

(1) ±ÜÄÓÜÃÜ ÇæPÜR ±ÜÄÎàÆPÜ Ë¨ÝÂÖÜìñæ AíÍÜWÜÙÜá 
(2) ±ÜÄÓÜÃÝñÜ¾PÜ ÇæPÜR ±ÜÄÎàÆ®Ý PÝ¿áìPÜÅÊÜáWÜÙÜ 

¯ÊÜìÖÜOæ 
(3) EA – ±ÜÄÓÜÃÝñÜ¾PÜ ÇæPÜR ±ÜÄÎàÆ®Ý ÓÝÊÜÞ®ÜÂ 

ñÜñÜ¤$ÌWÜÙÜá 

(4) EA – ±ÜÄÓÜÃÜ ¯ÊÜìÖÜOÝ ÊÜÂÊÜÓæ§WÜÙÜ ÇæPÜR 
±ÜÄÎàÆ®æ 

67. ¿áãÆÃ…®Ü  QÅ²ÉíW… ÖæãÃæ ÓÜãñÜÅÊÜâ, E Ü̈ª 
ÓÜ¤í»ÜWÜÙÜ ŸQÉíW…  ÖæãÃæ¿á®Üá° ¯àvÜáÊÜâ¨Üá A Ü̈á 
Jí¨Üá ÓÜ¤í»ÜÊÜâ ÖæãÃÜŸÖÜá¨Ý¨Ü Aí£ÊÜá 
ÖæãÃæ¿ÞXÃÜáñÜ¤ æ̈. WÜ~£à¿áÊÝX ¿áãÆÃ…®Ü 
ÓÜãñÜÅÊÜ®Üá° ×àWæ A¼ÊÜÂQ¤ÓÜŸÖÜá¨Üá 

(1) P = 
2

2

L

Ez
 

(2) P = 
2

2

L4

EI
 

 (3) P = 
2

2

L

Ez2
 

(4) P = 
2

2

L

EI4
 

CÈÉ :  

P = ŸQÉíW… ÖæãÃæ 

E = Ü̈ÅÊÜÂ Ü̈ Ô§£ÓÝ§±ÜPÜñæ¿á ÊÜÞvÜáÂÆÓ…   

I = ÓÜ¤í»Ü Ë»ÝWÜ¨Ü gvÜñÝ ÊÜáÖÜñÜ¤$Ì 

L = ÓÜ¤í»Ü¨Ü ÓÜÊÜÞ®Ü / ±ÜÄOÝÊÜáPÝÄ E¨Üª 

68. ±Üí²®Ü Q ËÓÜgì®æWæ ¯©ìÐÜr ÊæàWÜÊÜâ Ns BX æ̈ 
C¨æà ÎàÑìPæ¿áÈÉ®Ü A«Üì ËÓÜgì®æ¿áÈÉ®Ü  
¯©ìÐÜr ÊæàWÜÊÜâ 
(1) Ns 

(2) Ns 2  

(3) 2 / Ns 

(4) 2Ns 
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63. Why are bricks soaked in water before 

using in brick masonry ? 

(1) for removing dust 

(2) for reducing air voids 

(3) for preventing depletion of moisture 

from water 

(4) for reducing efflorescence 

  

 

64. One of the following industries is not 

necessary to prepare Environmental 

Impact Assessment (EIA) report to get 

clearance from the Ministry of 

Environment and Forest : 

(1) Thermal projects  

(2) Nuclear projects 

(3) Hydro projects 

(4) Industry involving investment less 

than < 5 crores 

 

65. Power transmitted by a shaft in watts is 

given by the expression  

(1) P = 
NT2

60


 

(2) P = 
60

NT2
 

(3) P = 
60

NT4
 

(4) P = 
NT4

60


 

Where : 

N = speed in rpm and T is torque 

66. ISO 14012 provides guidance on 

(1) Qualification criteria for 

environmental auditor 

(2) Management of Environmental 

Audit Programs 

(3) EA – General Principles of 

Environmental Auditing 

(4) EA – Auditing of Environmental 

Management Systems 

67. Euler’s crippling load formula gives 

buckling load of long columns that is the 

ultimate load a column can take. 

Mathematically Euler’s formula can be 

expressed as 

(1) P = 
2

2

L

EI
 

(2) P = 
2

2

L4

EI
 

 (3) P = 
2

2

L

EI2
 

(4) P = 
2

2

L

EI4
 

Where 

P = Buckling load 

E = Modulus of Elasticity of material 

I = Moment of Inertia of column section 

L = Equivalent/Effective length of column  

68. For a discharge Q, the specific speed of 

the pump is Ns. For half discharge with 

the same head, the specific speed will be   

(1) Ns 

(2) Ns 2  

(3) 2 / Ns 

(4) 2Ns 
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69. ¯àÄ®Ü ñÝñÝRÈPÜ WÜvÜÓÜáñÜ®ÜPæR PÝÃÜ|ÊÝWÜáÊÜâ Ü̈á 

(1) PÝÂÈÕ¿áí ÊÜáñÜá¤ ÊæáX°àÑ¿áíWÜÙÜ 

PÝŸì®æàp…WÜÙÜá ÊÜáñÜá¤ ¸æçPÝŸì®æàp…WÜÙÜá 

(2) Óæãàw¿áÊÜå… ÊÜáñÜá¤ ±æäpÝÂÔ¿áÊÜå…WÜÙÜ 

¸æçPÝŸì®æàp…WÜÙÜá 

(3) PÝÂÈÕ¿áí ÊÜáñÜá¤ ±æäpÝÂÔ¿áíWÜÙÜ 

PÝŸì®æàoáWÜÙÜá 

(4) ËÈà¯ñÜPÝŸì®…væçBPæÕ„vÜá 

70. ËaÜÆ®æ¿á Pæãà®ÜÊÜâ £ÅgÂ R CÃÜáÊÜ ÃæàTæWæ 

C¨ÜªÃæ, BWÜ ÃæàTæ¿á E¨ÜªÊÜâ 

(1) 
90

R
 

(2) 
180

R
 

(3) 
270

R
 

(4) 
360

R
 

71. ___________ ÎÐÜr®ÜÊÜâ ÖÜÓÜáÃÜáÊÜá®æ ±ÜÄOÝÊÜá Ü̈ 

A¯ÆWÜÙÜ EñÜÕgì®æ¿á ±ÜÄÊÜÞ|, ÊæáàÈÌaÝÃÜOæ 

ÖÝWÜã ±ÜÄÎàÆ®æ PÜáÄñÝ¨Ü PÝ¿áìPÜÅÊÜá Ü̈ 

ÓÝ«Ü®ÜÊÜ®Üá° J¨ÜXÓÜáñÜ¤¨æ.  

(1) ISO 14024 

(2) ISO 14015 

(3) ISO 14064 

(4) ISO 14060 

72. PæÙÜX®Ü ÖæàÚPæWÜÙÜ®Üá° ±ÜÄWÜ~Ô :  

A. ¶ÜäÂ¯PÜáÂÆÃ…  ®ÜPÝÍæ¿áÈÉ®Ü Êæã¨ÜÆ ÊÜáñÜá¤ 
Pæã®æ¿á QÃÜ|¨Ü AíñÜÃ…dæà¨Ü®ÜÊÜâ ¶ÜÈñÜ Ü̈ 
ÊÜñÜì®æ¿á ÃæàTæ¿á ÊæáàÈÃÜáñÜ¤¨æ. 

B. ¶æäàÇÝÃ…  ®ÜPÝÍæ¿áÈÉ®Ü Êæã¨ÜÆ ÊÜáñÜá¤ 
Pæã®æ¿á QÃÜ|¨Ü AíñÜÃ…dæà¨Ü®ÜÊÜâ ¶ÜÈñÜ Ü̈ 
±ÜÅPÝÍÜÊÜÞ®Üñæ¿á®Üá° ¯àvÜáñÜ¤¨æ. 

D ÊæáàÈ®Ü ÖæàÚPæWÜÙÜÈÉ ¿ÞÊÜâ¨Üá /ÊÜâ ÓÜÄ ? 

¯àwÃÜáÊÜ BÁáRWÜÙÜÈÉ ÓÜÄ¿Þ¨Ü EñÜ¤ÃÜPÝRX 
ÓÜíPæàñÜÊÜ®Ý°ÄÔ : 

(1) A ÊÜÞñÜÅ 

(2) B ÊÜÞñÜÅ  

(3) A ÊÜáñÜá¤ B WÜÙæÃÜvÜã 

(4) A BWÜÈà A¥ÜÊÝ B BWÜÈà AÆÉ 

73. km/hr ®ÜÈÉ Ë®ÝÂÓÜ ÊæàWÜ V C¨ÜªÃæ ÊÜáñÜá¤ 
¸æorhÝw®Ü ÃÜÓæ¤¿á £ÅgÂ (ËáàoÃ…) R B¨ÜÃæ, 
A˜ E®Ü°£Pæ (e) (ÖæãÃÜ Aíb®Ü ÊæáàÇæñÜ¤ÃÜ Ü̈ 
±ÜÅÊÜÞ|) ¿á®Üá° ¯àvÜáÊÜ ÓÜãñÜÅ  

(1) 
R127

V
 

(2) 
R127

V2

 

(3) 
R225

V2

 

(4) 
R225

V
 

74. WÝ£Åà¿á ñÜá¿á¤ÊÜ®Üá° D PæÙÜWÜX®Ü ¿ÞÊÜâ Ü̈á 
¯ÃÜã²ÓÜáñÜ¤ æ̈ ?  

(1) 
V

V
  

(2) 
V

V


 

(3) 
V

m


 

(4) 
m

V
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69. Temporary hardness in water is caused 

by  

(1) Carbonates and bicarbonates of 

calcium and magnesium 

(2) Bicarbonates of sodium and 

potassium  

(3) Carbonates of calcium and 

potassium  

(4) Dissolved carbon dioxide  

 

70. If  is the angle of deflection of a simple 

curve of radius R, then the length of the 

curve is  

(1) 
90

R
 

(2) 
180

R
 

(3) 
270

R
 

(4) 
360

R
 

 

71. ________ Standard provides tool for 

program to quantify, monitor and verify 

green house gas emission. 

(1) ISO 14024  

(2) ISO 14015 

(3) ISO 14064 

(4) ISO 14060 

72. Consider the following statements :   

A. The intersection of the first and the 

last ray in funicular diagram is on 

the line of action of the resultant. 

B. Intersection of first and last ray in 

polar diagram gives the magnitude of 

the resultant. 

Which of the above statements is/are  

correct ? 

Select the code for the correct answer 

from the options given below : 

(1) A only 

(2) B only  

(3) Both A and B 

(4) Neither A nor B 

73. If V is the design speed in km/hr and R is 

the radius (metre) of curve of a hill road, 

the superelevation (e) is given by which of  

the following ratios ?  

(1) 
R127

V
 

(2) 
R127

V2

 

(3) 
R225

V2

 

(4) 
R225

V
 

74. Volumetric strain is defined as which of 

the following ?     

(1) 
V

V
  

(2) 
V

V


 

(3) 
V

m


 

(4) 
m

V
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75. L E¨Üª¨Ü PÝíqÈÊÜÃ…®Ü WÜÄÐÜu ËaÜÆ®æ¿áá, 

»ÝÃÜ W ÊÜ®Üá° ÊÜááPÜ¤ ñÜá©¿áÈÉ ÄÔ¨ÝWÜ  

(1) 
EI2

WL3

 

(2) 
EI4

WL3

 

(3) 
EI3

WL3

 

(4) 
EI5

WL3

 

 
 

76. »ÜãËá£à¿á ÓÜËáàûæWÝX D PæÙÜX®Ü ¿ÞÊÜ 

±ÜÄÔ§£ AWÜñÜÂË¨æ ? 

(1) A®æÌàÐÜ| (¸æàÖÜáWÝÄPæ) ÓÜËáàûæ 

(2) ¨æàÍÜ¨Ü ÓÜËáàûæ  

(3) ÖÝÄg £ÃÜáÊÜâ / ÃæàTÝ ±ÜíQ¤WæãÚÓÜáËPæ 

(4) ÆíŸ ÃæàTÝ / £ÃÜáÊÜâ ±ÜíQ¤WæãÚÓÜáËPæ 

 
 

77. D  ±æçQ  ¿ÞÊÜâ¨Üá  PÝ¿áìÎàÆñæ  ÖæbcÓÜ Ü̈ 

PÝÃÜPÜ ? 

(1) ±ÝÉÔrÓæçÓÜÃ…   

(2) WÝÚÓæà±Üìvæ¨ÝÌÃÜWÜÙÜá 

(3) ÓÜã±ÜÃ… ±ÝÉÔrÓæçÓÜÃ…   

(4) ÔÈPÝ ¶ÜäÂÊÜå…Õ  

78. D PæÙÜX®Ü ¿ÞÊÜâ¨Ü®Üá° PÝíQÅàp…®Ü 

Z¯à»ÜÊÜ®ÜÊÜ®Üá° aÜáÃÜáPÜáWæãÚÓÜÆá A£ 

ÓÝÊÜÞ®ÜÂÊÝX ŸÙÜÓÜÇÝWÜáÊÜâ¨Üá ? 

(1) i±ÜÕÊÜå…  

(2) PÝÂÈÕ¿áÊÜå… PæãÉàÃæçvÜá 

(3) PÝÂÈÕ¿áÊÜå… ÓÜÇæ#àp…  

(4) ÔÈPÝ ¶ÜäÂÊÜå…Õ   
 

79. ±ÜÅ£Áãí¨Üá CñÜÃæ WÜ£¿á ÖævÜÃ…Õ ÊÜáñÜá¤  

ÍæãàÆxÃ…WÜÙæÃÜvÜ®Üã° EÙÜÛ Ÿí«Ü¨Ü ŸWæÁáí¨ÜÃæ  

(1) CíXÉÐ… Ÿí«Ü 

(2) ¶æÉËáÍ…  Ÿí«Ü 

(3) ÃÜÐÜÂ®…  Ÿí«Ü 

(4) ËáÎÅñÜ Ÿí«Ü 

80. ÊÜá~¡®Ü PæãÅà{àPÜÃÜ|¨ÜÈÉ ÇæãàwíW… ®ÜíñÜÃÜ Ü̈ 

ÓÜÄ¿Þ¨Ü ±ÜÅQÅÁá¿á A®ÜáPÜÅÊÜá¿ÞÊÜâ¨Üá ? 

A. A˜PÜ ÃÜí«ÜÅ JñÜ¤vÜÊÜ®Üá° ñÜXYÓÜáÊÜâ¨Üá 

B. Joár JñÜá¤ ÖæaÜcÙÜ 

C. A˜PÜ ÃÜí«ÜÅ JñÜ¤vÜ¨Ü HÄPæ  

D. ±ÜÄOÝÊÜáPÝÄ JñÜá¤ ÖæaÜcÙÜ 

¯àwÃÜáÊÜ BÁáRWÜÙÜÈÉ ÓÜÄ¿Þ¨Ü EñÜ¤ÃÜPÝRX 

ÓÜíPæàñÜÊÜ®Ý°ÄÔ : 

(1) C, B, A, D 

(2) B, C, D, A 

(3) B, C, A, D 

(4) C, B, D, A 
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75. Maximum deflection for a cantilever of 

length L, carrying a load of W at its free 

end is  

(1) 
EI2

WL3

 

(2) 
EI4

WL3

 

(3) 
EI3

WL3

 

(4) 
EI5

WL3

 

 

 

76. Which of the following conditions require 

Geometric Surveying ?   

(1) Reconnaissance Survey 

(2) Survey of the Country  

(3) Horizontal Curve Ranging 

(4) Vertical Curve Ranging 

 

 

77. Which of the following is not a 

workability enhancing agent ?   

(1) Plasticizer  

(2) Air entraining agents  

(3) Super plasticizer 

(4) Silica fumes  

78. The most commonly used admixture to 

accelerate the setting time of concrete is 

which of the following ?   

(1) Gypsum  

(2) Calcium chloride   

(3) Calcium sulphate  

(4) Silica fumes 

 

 

79. The type of bond in which every other 

course contains both headers and 

shoulders is called   

(1) English Bond  

(2) Flemish Bond 

(3) Russian Bond 

(4) Mixed Bond 

 

80. In soil consolidation, what is the correct 

sequence of processes which take place 

after loading ?  

A. Decrease in excess pore pressure  

B. Increase in total stress  

C. Development of excess pore pressure 

D. Increase in effective stress 

Select the code for the correct answer 

from the options given below : 

(1) C, B, A, D 

(2) B, C, D, A 

(3) B, C, A, D 

(4) C, B, D, A 
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81. WÜáÃÜáñÜÌ AOæPÜqr®Ü B«ÝÃÜ AWÜÆ b C¨Üáª, GñÜ¤ÃÜ H 

C¨æ. AOæPÜqr®Ü ¨ÜÅÊÜÂ¨Ü ËÎÐÜrWÜáÃÜáñÜÌÊÜâ G ÊÜáñÜá¤ 
B±…È¶…r  JñÜ¤vÜ¨Ü ÓÜÖÜWÜáOÝíPÜ K. ×ÊÜá¾w¿á 
PÜqr®ÜÈÉ PÜÐÜì| CÆÉ¨Ü ÓÜÄ¿Þ¨Ü ÓÜíŸí«ÜÊÜ®Üá° 
A¼ÊÜÂQ¤ÓÜáÊÜâ¨Üá 

(1) 
K–G

1

H

b
  

(2) K–G
H

b
  

(3) 
K–G

1

H

b
  

(4) 
K–GK

1

H

b
  

82. Êæã¨ÜÆ Ü̈hæì CqrWæ¿á®Üá° ñÜ~¡àÄ®ÜÈÉ   
24 Zípæ¿áÊÜÃæWæ ÊÜááÙÜáXÔ¨ÝWÜ A¨Üá ¯àÃÜ®Üá° 
D Ëá£XíñÜ ËáàÄ ×àÃÜ̧ ÝÃÜ¨Üá 
(1) 20% 

(2) 15% 

(3) 10% 

(4) 25% 

83. BÔ¤¿á ¯ÊÜÌÙÜ B¨Ý¿á¨Ü ÍæàPÜvÝÊÝÄ®Ü ÊæáàÇæ 
ÊÜáá¯Ô±ÜÇ… ñæÄWæWÜÙÜ ÊÜåèÆÂ ¯|ì¿á 
ÊÜÞvÜÇÝX¨æ ÊÜáñÜá¤ A¨Üá C¨ÜÄí Ü̈ 
ÊÜÂñÜÂ¿áÊÝWÜáñÜ¤ æ̈. 
(1) 2% Äí Ü̈ 5% 

(2) 6% Äí Ü̈ 9% 

(3) 10% Äí Ü̈ 12% 

(4) 18% Äí Ü̈ 25% 

84. ರಸ ತಯಲ್ಲ ಿ ವ ಹನವನುು ನಿಲ್ಲಸಿಲು, 0.36 ರ ಉದದದ 

ಘಷ್ಯಣ  ಗುಣ ಾಂಕ್ವನುು ಅನುಮತಿಸಿದ ಗ,  
m/s2 ನಲ್ಲಿ   ಪ್ರಿಣ ಮಕ ರಿಯ ದ  ವಿಲಾಂಬನ 
ಮೌಲ್ವ ೀನು ? 
(1) 1·24 

(2) 1·82 

(3) 2·24 

(4) 3·53 

85. D ±æçQ ÓÜáÃÜíWÜ®Ü¨Ü PÜÊÜaÜ¨Ü ZoPÜ ¿ÞÊÜâ¨Üá 

(1) pæÅía…hÝP…  

(2) ÃæàUà¿á ñÜpær 

(3) PÜñÜ¤ÄÓÜáÊÜ AíaÜá 

(4) ¹WÜáPÝÃÜPÜ 

86. D ÖæàÚPæWÜÙÜ®Üá° ±ÜÄWÜ~Ô : 

A. ÖæçvæãÅà¶ÜÉãÃæãàPÝŸì®ÜWÜÙÜá ÓÝÊÜ¿áÊÜ 

ÓÜí¿ááPÜ¤ WÜÙÝX¨Üáª, CÊÜâ ÖæçvæãÅàg®…, 

PÝŸì®… ÊÜáñÜá¤ ¶ÜäÉÄ®…WÜÙÜ®Üá°ÙÜÛÊÜâ.  

B. Khæãà®… ®ÝÍÜPæR PÝÃÜ|ÊÝ Ü̈ 

PæãÉàÃæãà¶ÜäÉÃæãàPÝŸì®…WÜÙÜá Ô.G¶….Ô. 

WÜÙæWæ ±Ü¿Þì¿áÊÝX AÊÜâWÜÙÜ®Üá° ŸÙÜPæ 

ÊÜÞvÜáÊÜâ¨Üá ÊÜáñÜá¤ ÍæçñÜÂ®Ü ÊÜáñÜá¤ 

ÊÝñÝ¿á®Ü ÊÜÂÊÜÓæ§¿áÈÉ ŸÙÜÓÜÇÝWÜáÊÜâ Ü̈á. 

C. AÊÜâ hÝWÜ£PÜ ñÝ±ÜÊÜ®Üá° EíoáÊÜÞvÜáÊÜâ©ÆÉ. 

D ÊæáàÈ®Ü ÖæàÚPæWÜÙÜÈÉ ¿ÞÊÜâÊÜâ ÓÜÄ ? 

¯àwÃÜáÊÜ BÁáRWÜÙÜÈÉ ÓÜÄ¿Þ¨Ü EñÜ¤ÃÜPÝRX 

ÓÜíPæàñÜÊÜ®Ý°ÄÔ : 

(1) A ÊÜáñÜá¤ B ÊÜÞñÜÅ 

(2) B ÊÜáñÜá¤ C ÊÜÞñÜÅ 

(3) A ÊÜáñÜá¤ C ÊÜÞñÜÅ 

(4) A, B ÊÜáñÜá¤ C 

87. BpæãÊæã¸æçÇ…®Ü ¿ÞÊÜ PÝ¿ÞìaÜÃÜOæ 
ÓÜí¨Ü»Üì¨ÜÈÉ, PÝŸì®… Êæãà®æãàPæÕ„v…  
ZoPÜÊÜâ WÜÄÐÜuÊÝX ¯ÐÝRÓÜ A¯Æ¨ÜÈÉ  ¹vÜáWÜvæ 
BWÜáñÜ¤¨æ ? 
(1) gvÜ aÝÆ®æ (Ko) 
(2) ÊæàWæãàñÜRÐÜì®Ü 
(3) PÜãÅÔíW…  
(4) ÊæàWÝ±ÜPÜÐÜì®Ü 
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81. The base width of an elementary profile of 

a gravity dam of height H is b. The 

specific gravity of the material of the dam 

is G and uplift pressure coefficient is K. 

The correct relationship for no tension at 

the heel is given by        

(1) 
K–G

1

H

b
  

(2) K–G
H

b
  

(3) 
K–G

1

H

b
  

(4) 
K–GK

1

H

b
  

82. A first class brick when immersed in cold 

water for 24 hours should not absorb 

water more than  

(1) 20% 

(2) 15% 

(3) 10% 

(4) 25%  

83. Municipal taxes are assessed on 

percentage of net income from property 

and it varies from  

(1) 2% to 5% 

(2) 6% to 9% 

(3) 10% to 12% 

(4) 18% to 25% 

84. What is the value of resultant retardation 

in m/s2 when a longitudinal friction 

coefficient of 0·36 is allowed for stopping 

the vehicle on road ? 

(1) 1·24 

(2) 1·82 

(3) 2·24 

(4) 3·53 

85. Which one of the following is a component 

of shield for tunnelling ?  

(1) Trench Jack  

(2) Linear Plate  

(3) Cutting edge  

(4) Stiffener  

 

86. Consider the following statements :  

A. Hydrofluorocarbons are organic 

compounds containing hydrogen, 

carbon and fluorine.   

B. They are commonly used as 

substitutes for ozone depleting 

substances like chlorofluorocarbons 

(CFCs) and are used in refrigerators 

and air-conditioners.   

C. They also don’t cause global 

warming.  

Which of the above statements are  

correct ? 

Select the code for the correct answer 

from the options given below : 

(1) A and B only  

(2) B and C only  

(3) A and C only  

(4) A, B and C  

 

87. During which of the following operating 

conditions of an automobile is carbon 

monoxide content in the exhaust gas the 

minimum ?  

(1) Idle running  

(2) Acceleration  

(3) Cruising  

(4) Deceleration 
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88. ®Ü¿áÊÝ Ü̈ ZoPÜWÜÙÜá Gí¨ÜÃæ IS gÃÜw¿áÈÉ 

ÖÝ¨Üá ÖæãàWÜáÊÜ ÊÜáñÜá¤ ÖÝ¿á¨æ EÚ¿ááÊÜ 

A|áWÜÙÜ WÝñÜÅWÜÙÜá PÜÅÊÜáÊÝX 

(1) 6 mm ÊÜáñÜá¤ 75  

(2) 4·75 mm ÊÜáñÜá¤  75   

(3) 75  ÊÜáñÜá¤  4·75 mm  

(4) 10 mm ÊÜáñÜá¤  4·75 mm 

89. ®ÝWÜ±ÜâÃÜ Áãàg®æ¿áíñæ »ÝÃÜ£à¿á ÃÜÓæ¤WÜÙÜ®Üá° 
GÐÜár Äà£¿áÈÉ  ÊÜXìPÜÄÔ¨æ ? 
(1) 4 

(2) 5 

(3) 6 

(4) 7 

90. L E¨Üª¨Ü ÓÜÃÜÚ®Ü ñÝ±ÜÊÜ®Üá° TC ¿áÐÜár 

ÖæbcÔ Ü̈Ãæ, A Ü̈ÃÜ ÃæàUà¿á ËPÜÓÜ®Ü WÜáOÝíPÜ  

BX¨Üáª ÊÜáñÜá¤ ¿áíW…Õ ÊÜÞvÜáÂÆÓÜ ‘E’ BX¨ÜªÃæ, 

ÓÜÃÜÚ®Ü ÊÜááPÜ¤ ËPÜÓÜ®ÜPæR PÝÃÜ| A¨ÜPæR ¯àw¨Ü ñÝ±Ü 

¨ÜÈÉ®Ü ÖæaÜcÙÜ. C¨Ü®Üá° PæÙÜX®Ü ¿ÞÊÜâ Ü̈á 

A¼ÊÜÂPÜ¤±ÜwÓÜáñÜ¤¨æ ? 

(1) TE 2L 

(2) T/L 

(3) T/E 

(4) D ¿ÞÊÜâÊÜä AÆÉ  

91. ¯ÊÜÞì| Áãàg®æ¿á ÓÜí©WÜœ ±Ü¥Ü¨ÜÈÉ EbñÜ 

ñæàÆáËPæ¿á®Üá° (¶æäÉàp…) ×àWæ ÊÜÞvÜŸÖÜá Ü̈á ? 

(1) Joár ¶æäÉàp…XíñÜÆã A˜PÜÊÝX 

(2) Joár ¶æäÉàp…Wæ ÓÜÊÜÞ®ÜÊÝX 

(3) ÓÜÌñÜíñÜÅ ¶æäÉàp… XíñÜÆã A˜PÜÊÝX 

(4) ÓÜÌñÜíñÜÅ ¶æäÉàp… XíñÜÆã PÜwÊæá¿ÞX 

92. ÓÜí©WÜœ ÊÜÞWÜì Ü̈ÈÉ®Ü AÊÜ˜¿áá PæÙÜX®Ü 

¿ÞÊÜâ¨Ü®Üá° ¯ÃÜã²ÓÜŸÖÜá¨Üá ? 

A. A£ PÜwÊæá AÊÜ˜¿á AWÜñÜÂË¨æ 

B. A£ PÜwÊæá AÊÜ˜¿á®Üá° A®ÜáÊÜá£Ô æ̈ 

C. hÝÔ¤ (A˜PÜ) AÊÜ˜¿á AWÜñÜÂË¨æ 

D. hÝÔ¤ (A˜PÜ) AÊÜ˜¿á®Üá° ÓÜÊÜá¾£Ô¨æ 

¯àwÃÜáÊÜ BÁáRWÜÙÜÈÉ ÓÜÄ¿Þ¨Ü EñÜ¤ÃÜPÝRX 

ÓÜíPæàñÜÊÜ®Ý°ÄÔ : 

(1) A ÊÜáñÜá¤ B ÊÜÞñÜÅ 

(2) A ÊÜáñÜá¤ D ÊÜÞñÜÅ 

(3) B ÊÜáñÜá¤ C ÊÜÞñÜÅ 

(4) C ÊÜáñÜá¤ D ÊÜÞñÜÅ 

93. ÓÜí»ÜÊÜ¯à¿á WÜÄÐÜuÊÜáÙæ (PMP) Gí Ü̈Ãæà®Üá ? 

(1) Jí¨Üá 100 ÊÜÐÜì¨Ü Äo®…ì (×ÊÜá¾ÃÜÚPæ)  

AÊÜ˜¿áÈÉ®Ü ±ÜÅûæà²ñÜ ÊÜáÙæ 

(2) ÊÝ¿ááWÜá|ÍÝÔŒà¿áÊÝX ÓÜÊÜá¦ìÓÜÆ³or 

ÊÜáÙæ¿á ÊæáàÆá Ëá£  

(3) ±ÜÄOÝÊÜáPÝÄ WÜÅ×ÓÜŸÖÜá¨Ý¨Ü ¯àÃÜá 

(4) GÇÝÉ ¨ÝSÇæ¿á ¹ÃÜáWÝÚWÜÙÜ, WÜÄÐÜu ÊÜáÙæ 

94. pæàÆÃ…®Ü Ô§ÃÜñÝ ÓÜíTæÂ¿á ÃæàTæWÜÙÜá CÙÜáPÜÆá 

Ô§ÃÜñæ¿á ËÍæÉàÐÜOæWÝX¨æ. ŸÙÜPæ¿Þ Ü̈ 

£ÃÜáaÜá¯Ãæãà«Ü Pæãà®ÜÊÜâ ±Üo¨ÜÈÉ ŸÙÜPæ 

BWÜáÊÜíñÜÖÜ Ü̈á    

(1) ±ÜÄOÝÊÜáPÝÄ Pæãà®Ü  

(2) WæãàaÜÃÜ Pæãà®Ü  

(3) Êæã¹ÇæçÓ…x Pæãà®Ü  

(4) ñÜãX Ü̈ Pæãà®Ü 
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88. Fine aggregates are those which pass and 

retain on which of the following sizes of 

IS sieves respectively ?      

(1) 6 mm and 75  

(2) 4·75 mm and 75   

(3) 75  and 4·75 mm  

(4) 10 mm and 4·75 mm 

 

89. According to Nagpur Plan, Indian roads 

have been classified into how many 

categories ?  

(1) 4 

(2) 5 

(3) 6 

(4) 7 

 

90. If the temperature of a rod of length L is 

increased by TC, whose coefficient of 

linear expansion is  and Young’s 

modulus is E, then free expansion of the 

rod due to increase in temperature is 

given by which of the following 

expressions ?     

(1) TE 2L 

(2) T/L 

(3) T/E 

(4) None of the above  

 

91. In the critical path of construction 

planning, free float can be  

(1) Greater than the total float  

(2) Equal to the total float  

(3) Greater than the independent float 

(4) Less than the independent float 

92. Duration along the critical path defines 

which of the following ?  

A. Shortest duration needed   

B. Shortest duration permissible    

C. Longest duration needed 

D. Longest duration permissible 

Select the code for the correct answer 

from the options given below :  

(1) A and B only  

(2) A and D only  

(3) B and C only  

(4) C and D only  

 

93. What is Probable Maximum Precipitation 

(PMP) ?  

(1) Projected precipitation for a  

100 years return period  

(2) Upper limit of rainfall that is 

justified climatologically  

(3) Effective precipitable water  

(4) Maximum precipitation for all  

recorded storms  

94. Taylor’s stability number curves are used 

for the analysis of stability of slopes. The 

angle of shearing resistance used in the 

chart is the  

(1) effective angle 

(2) apparent angle 

(3) mobilised angle 

(4) weighed angle 
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95. D ÖæàÚPæWÜÙÜ®Üá° ±ÜÄWÜ~Ô : 

A. ±æç±…®ÜÈÉ¿á ÖÜÄË®Ü ÊæàWÜÊÜ®Üá° ÊÜÞ±Ü®Ü 

ÊÜÞvÜÆá ²pæãp…  oãÂ¸…®Üá° ŸÙÜÓÜáÊÜÃÜá. 

B. Jí¨Üá ±æç±…®ÜÈÉ¿á ÊÝ×¿á JñÜ¤vÜÊÜ®Üá° 

AÙæ¿áÆá ÊÜÞ®æãàËáàoÃ…®Üá° ŸÙÜÓÜáÊÜÃÜá. 

C. Jí¨Üá Êæç±Ü®ÜÈÉ¿á ËÓÜgì®æ¿á®Üá° ÊÜÞ±Ü®Ü 

ÊÜÞvÜÆá ÊæíaÜáÄËáàoÃ…®Üá° ŸÙÜÓÜáÊÜÃÜá.  

D ÊæáàÈ®Ü ÖæàÚPæWÜÙÜÈÉ ¿ÞÊÜâÊÜâ ÓÜÄ ? 

¯àwÃÜáÊÜ BÁáRWÜÙÜÈÉ ÓÜÄ¿Þ¨Ü EñÜ¤ÃÜPÝRX 

ÓÜíPæàñÜÊÜ®Ý°ÄÔ : 

(1) A ÊÜáñÜá¤ B ÊÜÞñÜÅ 

(2) B ÊÜáñÜá¤ C ÊÜÞñÜÅ 

(3) A ÊÜáñÜá¤ C ÊÜÞñÜÅ 

(4) A, B ÊÜáñÜá¤ C 

96. ಒಾಂದು ಜಲಚ ಲ್ಲತ್ ದಕ್ಷ ಆಯತ ಕ ರ ಚ ನ ಲ್ 
ಬ್ ಡ್ ನ ಅಗಲ 5 m  ಆಗಿದುದ, ಅದರ ಹ ೈಡ್ ರಲ್ಲಕ್ 

ತಿರಜ್ ಯ ವುದಕ ೆ ಸಮವ ಗಿರುತ್ತದ  ? 

(1) 1·25 m 

(2) 2 m 

(3) 2·25 m 

(4) 1·75 m 

 

97. ನಿೀರ ವರಿ ಹ ೊರಹರಿವಿನ ಚ ನಲ್ ಸೊಚ್್ಾಂಕ್ವು 5/3 

ಆಗಿದದರ , ಓರಿಫ ೈಸ್ ವಿಧದ ನಿಗಯತ್ದ ‘ಸ ಟ್ುಾಂಗ್’ವು 
ಪ್ರಮ ಣ ನುಗುಣತ  ಹ ೊಾಂದಲು ಎಷ್ಟುರಬ್ ೀಕ್ು ? 

(1) 0·16 

(2) 0·30 

(3) 0·48 

(4) 0·62 

98. ಒಾಂದು ನಿೀರ ವರಿ ಯೀಜನ ಯಲ್ಲಿ, ಒಾಂದು ನಿರ್ದಯಷ್ು 

ವಷ್ಯದಲ್ಲ,ಿ ಖ ರಿಫ್ ಮತ್ುತ ರ ಬಿಯಲ್ಲಿ, ಕ್ೃಷ್ಟಯೀಗ್ 
ಕ್ಮ ಾಂಡ್ ಪ್ರದ ೀಶ್ಗಳು ಕ್ರಮವ ಗಿ 60% ಮತ್ುತ 
46% ಗಳಷ್ುು. ನಿೀರು ಇಲದಿ  ಉಳಿರ್ದದದವು ಮತ್ುತ 
ಉಳಿದ ಪ್ರದ ೀಶ್ವು ನಿೀರ ವರಿ ನಿೀರನುು ಪ್ಡ್ ಯಿತ್ು. 
ಯೀಜನ ಯಲ್ಲ ಿಆ ವಷ್ಯದ ನಿೀರ ವರಿ ತಿೀವರತ ಯು 
(1) 126% 

(2) 80% 

(3) 124% 

(4) 94% 

99. 1 m  ದಪ್ಿದ ಪ್ದರದ ಪ್ಯ ಯಪ್ತ ಜ ೀಡಿಮಣ್ಣಿನಿಾಂದ 

ಎರಡೊ ಮುಖಗಳಲೆಿೂ ಬರಿದುಮ ಡಿ, ಒಾಂದು 
ವಷ್ಯದಲ್ಲ ಿ 10 cm ನಷ್ುು ಸ ಟ್ಿ ಆದರ , ಈ ಪ್ದರದ 

ಮಧ್ಭ ಗದಲ್ಲಿ ಸಾಂಕ ೊೀಚ್ನ ಮಣ್ಣಿನ ತ ಳುವ ದ 

ಪ್ದರವನುು ಪ್ರಿಚ್ಯಿಸಿದರ , 10 cm ನ  

ಸ ಟಲ್ ಮಾಂಟ್,   ಕ ಾಂಪ್ ್ಕ್ು  ಆಗುವ   ಅವಧಿಯು 
ಎಷ್ಟುರುತ್ತದ  ? 

(1) 2 ವಷ್ಯ 

(2) 0·75 ವಷ್ಯ 

(3) 0·25 ವಷ್ಯ 

(4) 3 ವಷ್ಯಗಳು 
100. ಈ ಕ ಳಕ್ಾಂಡ ಯ ವ ಮರಳು ನಿಕ್ ೀಪ್ದ 

ಒತ್ತಟ್ ುಗಿಸುವಿಕ ಯ ಕ್ ೀತ್ರದ  ಸಿಿತಿಯು, ಸರಿಯ ದ 

ಶಿಷ್ು ಪ್ ನ ಟ್ ರೀಷ್ನ್ ಪ್ರಿೀಕ್   ಮೌಲ್ವನುು 
ಪ್ರತಿನಿಧಿಸುತ್ತದ  : 

 N (ಸರಿಪ್ಡಿಸಲ ದ) = 12 ? 

(1) ಸಡಿಲ 

(2) ಮಧ್ಮ ಸ ಾಂದರತ  
(3) ದಟುವ ದ ಸ ಾಂದರತ  
(4) ಅತ್್ಾಂತ್ ದಟುವ ದ ಸ ಾಂದರತ  
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95. Consider the following statements : 

A. Pitot tube is used for measuring 

velocity of flow in the pipe. 

B. Mamometer is used for measuring 

fluid pressure in a pipe. 

C. Venturimeter is used for measuring 

discharge in a pipe. 

Which of the above statements are  

correct ? 

Select the code for the correct answer 

from the options given below : 

(1) A and B only 

(2) B and C only 

(3) A and C only 

(4) A, B and C 

 

96. For a hydraulically efficient rectangular 

channel of bed width 5 m, the hydraulic 

radius is equal to 

(1) 1·25 m 

(2) 2 m 

(3) 2·25 m 

(4) 1·75 m 

 

97. If the channel index at an irrigation 

outlet is 5/3, ‘setting’ of an orifice type 

outlet in order to have proportionality is 

(1) 0·16 

(2) 0·30 

(3) 0·48 

(4) 0·62 

98. In an irrigation project, in a certain year, 

60% and 46% of the cultivable command 

area in Kharif and Rabi respectively, 

remained without water and rest of the 

area got irrigation water. The intensity of 

irrigation in that year for the project was 

(1) 126%   

(2) 80% 

(3) 124% 

(4) 94% 

 

99. A 1 m thick layer of saturated clay, 

drained at both faces, settles by 10 cm in 

one year.  If  a  thin layer of pervious soil 

is introduced  in  the  middle  of  this 

layer, then what will be the period during 

which the settlement of 10 cm will be 

compacted ? 

(1) 2 years 

(2) 0·75 years 

(3) 0·25 years 

(4) 3 years 

 

100. Which one of the following states of field 

compaction of sand deposit truly 

represents the corrected standard 

penetration test value :  

 N (corrected) = 12 ? 

(1) Loose  

(2) Medium dense  

(3) Dense  

(4) Very dense   
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